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Ufged3s =Yg 39 I feam &t 39 f3udt 91 few feans ing &5
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Hefanm
(MATRICES)

urgsT (Concept) et 7 ewst ot Rsfged nrfesrarg 393ty & Aican faar ater 31 Hfean
fo"g waw Hia 7T SBaT & Hiean @ i At fesesy fagr Ater J1

f9& (Notation) : (i) feanm & »mi 39 3 wigigH] T 2T oyat 55 A= fa AB.C.D, few
fasfem mreT 31 S

(ii) fere ¥mt & »ide 3 e € 8¢ wiudt &% fAe fa aj,by.c; f&5 fafumr afer J1
?rﬁ‘aaﬂé’ﬂ?iiﬁﬂmfugﬁ?fmotation}feiqum

e

Gergas AfaT :
7 8§ 6
(i) W& G A=|2 3 1
11 14 22

ferr et Afead ‘A’ €7 1 3x3 J1
fer ‘A’ Hfeaw € miwhien fen 397 96~

a, =17 a, =38 a; = e,
ay, =2 Gy, =3 ay, =1
a, =11 a,, =14 ay =22

fer et 'q, ' & fa ufost P 3 ufed araw & y=afrs e Ji |

a,, - 7 fo ufost @ 3 w7 FeH § yzafing s9er JI

fei 3g° a,, 7 fa It T 3 ufod W § yeafz s9er J1

(ii) ufast ,gﬂﬁ?ﬁﬂﬂW%W(ﬂé,W)ﬁmwad'é MEATT

iES g
[ 14 22
(I 11 10
III 02 20
& 3x2’ W It yeaaz a3 faprr J1
(iii) fear w3t AMIAEE (Linear Equation) : -
14x+17y=4
2x+2y=2

g3 fodt fe'g wat milads € gred (Co-efficient ) § Hefaan L9 fors »ignmg yeafis 13T wfer

a1
14 7
2 2

fifeaw & a4 (Order) : fam Hfeaw €t m 3 3 n a7y I QaeT m x n gt AT HreT J1
few Afeaw f9 m n 7% € TS|
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2 3 1
Gegas:=|7 8 6
14 11 22

forr ifegam 7 Hfegaw e Qi 3x3 J1 fen fe9 3 90 3 3 T®H 75, 3 few Hiegam &
2,3,1,7,8,6,14,11, 22 %W (Elements) 3& | HfeaA m x nH Fg I fer yara fefienr qrer &

Ay A a3 4y,

a a5 d s
ml m2 m3 “md ) e

" feg j" aen 3 o3 fesea § a; T worHa fafmr Afer 31 -
ﬁfaam@nmﬁa?feaﬁ%vﬂaﬁaﬁéWA‘Bﬂ*cwﬁ[ai,-],[bjj]wkwfgfuwnﬁ?z?lfeﬁ
SE m x n Afedan & ‘A’ &% fara nigne fefimm mier J1

A:[aij]mxn

7 8 6]
A= 11 14 22

3. 35 00 L

fer ffzqan =9 96 9 3 35 aey Ia1 fon wet fem Hieaw e a1 3x3 J1 fea-

a, =7 a, =8 a;="06
a,, =1 a,, =14 ay, =22
ay, =2 Gy, =25 a,; =10
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few vifegan fe9 f3a T 3 979 T&H IS |

-
a,=31 a,=11 a;=2 a,=0

a, =10 a,=12 a,=28 a,,=30

a, =5 a,=0 a;=6 a, =8

Aot &t saradt - € Afedaw O At Saree JEhit 95 A¢ 9= Afean @ A feqd an &
(Corresponding ) i wruR f&9 9999 I |

ay Gy | 8 7 5
ay, Gy 18 6|

3t a, :810’l2 — 7.(:2] :81”:: =6 I&I =

GeggsedaI A

Hfegam &t faAHT (Type of Matrixes) :
(i) =3arad Hfedan (Square Matrix):

(ii) Gerg9s € 393, few 37°

a, @, a; a

(Square ) TFITaF Ffedan T| fer Hfeam € n 3 I n a&H 351 fer Hieam & n €t Hfeaw <t fagr
e I

=garerg Nfegan A=|a,| €a, #m & feaas #m fagr 7rer I fem &€t %W a,,, 05,054, 8

=ggrag fifzgan & feaadt ¥ fagr Arer 31 feaadt T € AHT 79 § 2o faar Arer 31
5 n
- ' ZdH (Trace) = Ei=1 dii -

2. 7T Afeda ( Sub - Matrix ) : foat Hfegaw fE9 gv 3 3 T8N A7 €61 § H3IW J96 Quda Tall

fifegan & A - AfedaT ( Sub - Matrix ) faar #fer 1
8 7 8 6
ssg 4=12 2 1 1
14 11 10 22
3
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few vfegam = ma- ¥ifegan (Sub-matrix)
|18 7 5 , .y = . . ]
i) feg’ 5 5| ~fifegan < A’ f2F It I w3 SIHT 3 T8 TBH S ¥3IH TS QUIT YU
Jet 1
8§ 8 6
i) feg |2 1 1 | A" - Hfedad €AF I&H & H3H 96 GUdz Yus It
14 10 22

3. 1 fifzaai (Row Matrix): i ffedan feg fed 3 32, €7 & anf Hfeqan afde I8+ _
Geggs Afug: A=[14 11 22 10 2]

4. T8N FfzaaH (Column Matrix ) fn fifegan few fed araw 32, €7 & a&H Hicgan afde 751

5. fggwrarg Hfedan (Triangular Matrix) : T Nifegan © 99d Wi Hyfeads 3 Cug 7 88, fAsg
32, gt Afegan & fagwrarg Hfegan fagr Ater 31 -~

@Hﬁﬁéﬁe’h—ﬁ@ﬁmﬁaﬁ— i) €38 fggarara Hfeaw (Upper Triangular Matrix)

(ii) Jo8t fagwmarg Hfean (Lower Triangular Matrix)

@E"’EIE?)‘H’&IE:
14 7 4
) g fagaaanfean (0 11 3
0 0 6
14 0 0
(i) ~Jout fggmaanfean |7 4 0 -
7 8

6. fearet fifeaa (Unit Matrix) : fear Zgarars Afegan frm w7 99w feaest #m fea ’ 3= § fearst
Ffegen faar Arer I
zgaraa Afedan [ a, | fearet ifegan 31 7€
aj=1 A fai=j

aij=0 7 fa i # j 3|

-

4
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fog fearet ffegan ‘n’ & 1, &7 faforr Arer d fa< fa

100
10
[1= e I.:: 01 O
1 P ;
00 1
7. (1) W4 fea@= (Principle diagonal) : fE& n o € =garag Afegan A=|:a“.] S

I, T W S Hfean e vy fegas ge78e 51

¥ feggat #F (Element) 2,1,8 I&|

(i) fexast vifeaw (DiagonalMatrix): FIIST fifean & feaaet ifegan ST afie gage at Ere
fegaat ¥ 83 d ¥dl A Wi fHeg I |

700] [d 0 0
gergge A=|0 8 0|7f|0 d, 0 |feT fesaet Afean T
006|] [0 0 d

fog feggat ifeaan 3x3 o €t 1 fegwt & fom 3t < fefonm A7 weer 3

Dia. [? 8 6]
Diag. [d, d, d, |

8. fied Afean ( Zero Matrix): m x n WTOH Hfedan & 9 M en Ae fAsg I= 37 W & fAsa

ﬁfeaaﬂaﬁ%amfwé(wull)'mﬁfgamm}a?m*ﬂﬁvm S
000 = =
Gegas Afgs: A= Hfean J1
._0 0 0 23
[0 0] . N
B= } Hfeam T
I_0 0 2x2
000
C=|000| ¥Hfeamdl
0 0 0 Ix3

ferd '0,, & 2 fefer arer 31

T Gergdat
2 11 25 14
gegds & 1, 588 A=[aq,|=|7 8 6 2
8 7 8 6
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‘N Hfeqamn eT aH BT P T a,, dy, 4y, I 4y, M (Elements ) T FF |

T : fon Hfegan fe9 3 31 3 979 T&H 76 fer et few Hfean & @ 3x4 J1

L a,=8a,;=8a,=6 5 a,=14

=
-
Geads &: 2, # fea Hfeaw fe9 5 7w 9%, B © AIT Higan o fow 7
I% it Arew IF 3 Hfesam @ & m x n Jer J1 fen et 5 #mt 8T Hfearm @7 gH 5x1 AT 1x5 T

AaeT J

Gorags &:3, fea Hfeam ‘A’ feg 14 wim s | fen Hfean e faug 2 i I AAE 95 1 H 733 IS 3F
fa& o J=ar ?

T :asfeld 3T =14

fer et Hfegan v 9= o fer uad J -

1x14, 14x1, 7x2, 2x7

(i) H &% 33 =07 I&|

I Hfcdan & A< H JaH 1x7, 7x1 TS|

Quads & 4, 2+2 € Hfedan g&'Q, fAR e W Ia, =2i-4) I

I8 W5 8F A=[a, | BE 202 < Afean T i,
3t few
ay=2£—4j
a,=2x1-4x1=2-4=-2
a, =2x1-4x2=2-8=-6
a, =2%x2—-4x1=4-4=0
a, =2X2—4x2=4-8=-4
A:
0 -4
Gerus &: 5, 2+2 € fifeam &G, faw € 373 fe yarg 7
o
(i) .a,.}=1'+2j
(i) a,=2i—-j
G g etl)

T8 () 5B A=[a, |BE 202 nrew & Afeaw 3, 3

a,=i+2j
a, =1x1+2x1=1+2=3
4, =1xX1+2X2=1+4=3
4y =2X1+2x1=2+2=4 T

Ay =2%x2+2x2=4+4=38

b
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ik TABLEM i Moot SR It R

(if) T Sfemr gaor few gt &1 ay=2i-j
au-2>< I—1x]1=2-1=2
. 012323(1—13‘2:2—2"'0

g =2%x2-1%x1=4-1=3

ol Ay =2x2-2x1=4-2=2
30
e ]

(i) f&aT & : ay =Q+_;~:Jﬁ

2 2
oy Or2x?_@+27 9
2 2 2

we L0¥2x27 _ (+4? 25
st T T

_@e2x’ 4 16 _.
s Rabty 2 2

_@+2x2? @+4* _(6 _36 _

18
2 2 2 2

(9/2 25/2
| 8 18

y N2
) R ay ="i,]
J
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1
Qe &: 6. 3 x 3 gad o iifesan wer€ fane 39 g =5 Gi+/)s]
“:au .-:-% (3"1“1"1)::-% (3+1)=(4)-2
ap =L @x1+22 =1 3+2)=52
2 2
1
a13=% Gx1+3) =2 B+3)=62=3
oy =Ll @3x2+1) =1 (6)=3
2 2
=1 =1 (6+2)=4
ﬂzz--i(3><2+2) 2( )
=1 +3) =L (6+3)=92
By (3x2+3) 2( )
=L Gx3+1) =% @+1)=5
n 2
=1 =1 @+2=11
ap =1 Gx3+D) =7 0+2)

s =.15 (B x3+3) =_;. (12)=6 /%

3 6 14

. 3y-x Sx| |7 8

o [757 516 )

f¥t aret Nfzeaw A8 wirgs 32 vove X985 3 Qug Jer J|
3y-—x=7’d§5x'3

Gean & 7.3 [”" 5"]-.—[’ “] awgﬁm#a ’
Y

8 8
= -— Sl By /
x 33'3_}? 3

g B 43
3y=7+ 3 =3y B
43
2 15
8
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4x 2

< - | x+2y 3y
Geds §: 8, a’[ 2 } e 5

0 _"i
:[ J} 3T xIy ST A3 B

zﬁszwz;ﬂé"?a{“zﬁ'y}{o f}}

4x 2 8
feaeraet Hfgan €t ufggmr enmar
T
x+2y=0 (1)
4x =8 (2)
3y=- .(3)
3
Mags (2)FT(3)F x=2,y=-1ferga® x=2,y=-1
fem zet x=2,y=-1
2 8
@_e'aa?;?"?: 9.4 oY :‘V?
S5+z xy| |11 14
I5 W e d ' i
x+y 2| |7 8
5+z xy 11 14
fea=rset Hiean &t ufggm™r gnirar
x+y=17
5+2=11
xy=14
MHIaEs (2) It z =6
AHlaes (1) ddt y=7—x

y=T-x=x3 (iii) ffe a5 3

x(7-x)=14
7 Tx—x"=14
x> =7x+14=0

nifgnra 1 (8)
ki 7 feg fifean feg 10 #w g5, 37 fere Ag< aH f&4|
2. 7 fo'e fifean fog 18 #Ehien g, 37 fene fg< wew f&Y 2799 05 I I It fea fas
WeH gl ?
3. 7 fe'g Afean fee 22 33 75 37 feg fene fad fe= mrew (34
4 fe' 2x2 &t Hifean fawmg a9, fAre 3T fer ua@ a, =2i+ j €3 T51
5 fer 3x2 &t Hfeaw fanra a9, fame I3 ferua@a o, =2i+ j €3 T51 .
6. fe'g 3x3 o Hfcan fama a9, fAre g feryaa a, =i+2; €3 951
7 fe'q 3x4 & nfean famg a9, fame 33 fer ugda, =2i— j €3 I51

x+2y 3y 0 -3 o
8. al| > W 3t feg x, ySTAMI B9
4x 2 8§ 2
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9. H [LD xﬂ'}:{b 8} 3t fgg x,y A aMHI BT

2 % x-y 3

10.  x y3 zabdi a3 fors RS &9 -

ﬁ)[«% 3:1:{}' z} m{.\‘-ﬁ-_\-‘ 2 }:[6 2}
% 3 i 5tz xy 5 8
11. 2«4 Afead A=[q, [T ee& RE 3T a, =2i- fe'3 751
12. 23 Afeam A=[q, | T 5=E fE I9q, =i+3) F3T5

i+27) .-
=(,+ J) feg a5

13, 42 ffem A=[q, |sd seE e I q,
2dAud Hfgaw (Transpose of Matrix) :

ufamar : s &6 A e fifeam 3, fro o <ot 3of § a9 weme & iTs 8
Pifeaw T camte afae 9| fen & A' AT AT &7 fafem wier 31

7 A=[q,] ¥3tfemereamim A'=[q,| 9 yehig T I

mx.

- 231

SCANGr ﬁA{??ﬂﬁ?mfww

T 2
ZamAuTA'=|8 3 | 31
161

Zamlw Hfeaw et felA3™=T (Properties of Transpose of Matrix) :
() (ATY =A, Fifean A€ eI €7 2IRUA A € 59789 Je7 T
(i) (A+B) =A'+B'
(iii) (AB)" = B" A’
(iv) (KA) =K4' fa@ K fea masa 3

I% Gegdst

4 10 11 _

Gegas &1 A A=L¥ 3 6}3*1%31’211?23*141*[? 59l -

g :fegr g
410 11
A=
7 8 6

4 7
fogwet fomereamua AT AT A'= |10 8 Tl
116

= 10 -~

—
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S R e T TR R

-k £ i SRR, ML o e ST e

: 2 3 1
Geuss & 2.7 A =14 11 ZZ:lB*fCUﬁH'E"EH*Hﬁ?#?I
7 8 6
2 3 1
Yo : f¥ard A=l14 11 22
» 8 6
2 14 71
fawﬁfaamwwza*xﬂaﬂ#ﬁ- 3 11 8|31
1 22 6J
: 1 2
: = A'BF |
Gewgs &: s.ﬁA_[g 4}3*1‘{6A+
2] , Pt 3]
ﬁg:fégr% A= 4” = A =L2 4j
fer wet A+ Af i_'{i ﬂ
[1#1 2437 [2 5
“[3+2 4+4] |5 8
fodt o grdter T

Beas b 4. 9 A z[; _24] B =[" 3] ot fag (ABY = BIA' 82|

oo fifor

2 1

A=

b
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5] 4 3
—-4H’B :[z 1]
8 4 3

-~ | ‘.-1
4] ¥ [2 -4] @
3 . 4 2
1] ::.»B‘-L l] -—(2)

2[4 3] [4+4 3+2] [8 5
—4il2 1| |12-8 9-4] |4 5
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ot 1

8 4
ferr €t (ABY :L 5]
4 2171 37 [4+4 12—37J
i B'Af ‘-{3 1][1 4| |3+2 9-4
g 4
few et (ABY = B'Af
0\ [t 5 7] g+ feg (ABY = B'Af
Gegesd: 5. RA=|1|B=
2J
et s 7
t={1],B=[1 5 7
dos: 7Y & 2 [

I
Al =[0 1 2]:-’781:‘:
q
0 0 ©
AB 1 5 7]:‘-1 5 7
e H 2 10 14
A‘B“" 0 S 10
0 7 14

|
BIA! { fo 1 2]
7)

01 2
BIA' =10 5 10
0 7 14

mwﬁaegm‘feﬁ‘#sa"ﬂ?a'l
12
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mfgm ™ 1 (°)

13
1. TA=|7 2|3 feg A" AT A' B9
01

1-1 2
2.7A=|3 1 4| 3Tfeg A A7 A BT
|27 8
o Te a6 . R -
3.7A=|_ _ |3 feafemer A’ 891
S
[1-10 410
4.3A=12 13|B=|2 3 1|3 fed (A+B) =A'+B' &9
418 11 -
- -3 4 . f ey
5.9 A= 3t A+A" B9
23
6.7A=[7 8 6|3 feafemer A-A' B9
7.figad fx (AB)’ =B'A' fen § I% 995 &1 Ag fe 37 J-
1 -2 0
-1 2 3
B=2 1 -1 -
3 4 -1
1 -1 1
32 3 1 2 3
8.7A=|0 -1 3|,B=|4 0 5|3 feg (4+B) =4'+B fuadl
2 47 3 -1 7

miteaa w3 fafa@ miteaa Hfcaw ( Symmetric and Skew Symmetric Matrix) :
mitead fifedan (Symmetric matrix) : fed Zgarars Afeam & mitefoa Hfeam afde a5 Ae Hfean
MUE gL € §9Hd d< |

A=A

a h 4 v .
Gugas:A=|h b [ |miteed ffegan ERAN Jer TAEA' = A I<I

g f c
fafa€ miteaa (Skew Symmetric): fe'g Aaa Hfeaw Az[aJ@Ffﬂ';ffﬂﬁ'gm-ﬁmWWﬁﬁ
Fifeaw e zaHue Hicom € &8t € 9944 J< |
=4 =-4
fon wet fegaat #IF qii = —qii 9€ I5|

— gii+aqii=0 = 2aii=0= aii=0

= fafa§ mitedt Hfean  feaget #w i J€ 75|

13
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. o
-3 i
1
0

O -h g
B=|h O-f
g . f @

ferr & fafer@ mitedt faar arer 3

w N O
[
_— O N

Gergas Afa3 A:[-

fa@aow 1: fiiw 99 fa fair S wa@ Hfeam A, A+A o mteaa Hfeam 7, 37 A-A' T fafa@ mitesa 31

firg: fear & H
(a+a) =4 +(4) [ (4+B) =4'+B ~.(4) = A]
(A+A"Y = A+A’ [ (A-B) =A'-B']

= A+A" miteds Hfean J1 feg gmmar

(A_Al)ler_(Ar)t
(A-A")'=(A-A")

= A-A' fafa@ mitegar 7, fedt »AT g gasT At

faGaw 2. T a3 foa I9a Aaa fean & 539 miteda 3 ffa§ mitead € v evmar feyrfenr wier J1

e
T s 56 A et Haa Afesr 3
A=L(A+A ) +=(A-AT) T
4—-5( )+2( -
few wet A=P+Q
1 - 1 ,
g P=—(A+A) 3 Q=_(A-A)
1 ! " 1 It .- ! s 4l
T A’:[;(/HA)} :§(A+A) [.(KA)—KA]
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Q(a+b,f(a+h))
a+h)—f(a
_ a1

i
[
i
i
t
[
!

¢ Q— P G PQRUER YT s ATETJ 3¢ h— 0ffg P 3

-«

Y

ferr &€, P AU Jur €t g5 = lim

h=0 Y

fla+h)— f(a) a a+h
h

fort fiig @ 3 <a9 © F9i=fe= A fegdx e H'& wre 9 @ 2a9 @ fiw 4 3 5=t muEr Jur
O %% € §9gg JeT I

I8 Gegast
@egas 1:  f(x)=99x T x=100 F Derivative U™ I3
I8 : f(x)=99x
: : - (100
oy =i 1000+~ 7 000

. 990100+ A)—99x100
=lim

h—=0 h

990049942 -9900
h

=lim
h=0

hgg
h
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§e995 2. f(x)=3xe" x=2 F Derivative Y37 Jq|

SC2+h)—-f(2)
h

£'(x)=lim
h—0

lim 3(2+h)-3.2 o
=0
. 6+3h—-6
:1111‘_}
_3h
T h
f'(2)=3
€ew9s 3. f(x)=cosx ¥ x=0 I Derivative Y37 Jq| -
f(x)=cosx
.f"(0)=lin{1] f(0+h;—f(0)

J(h)—7(0)

= lim
h—0 h

. cosh—1 b
=lim

h=0

=lhn—{l—cosh):H_2shf(hf2)

=0 h h

i S o o
nl2

h—=(

=1x0=0Ans.

wfgn™ 1 (a)

1. f(x)=3%" x=0%3 x =33 Derivative U3" &d |
2. f(x)=sinx®e" x=03 Derivative U3" 4|
3. f(x)=2cosxeE" x =7 /23 Derivative U3 d3 | 69
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4. f(x)=x"4x+7
fAaas f'(s)=2/'(7/2)

Derivative of a Function

Definition (Ufgg™) :
A9 f fEF WAS 'S 886 J< 37 OF aHG € Derivative [ '(x) qT7<aT i3

F(x)T ¥ § o el 3gt <t semfemT qer 3 :
dy

g} g awmym) or L L (f() e = £() B

ferw T85 (Remark):

€3 fo3 3 % Fdl=fe= (Derivative) I8 A3 & UfasT I 578 Sdiefes I8 J9aT fagr Aer
J fAR & Ab Initio Method AT Delta Method & fagr AT AareT J1

I8 Borgast
§ea9s 1. 35 f&Y € First Principle € 03 &% 3dt=fe= (Derivative) U3T 4:

(1) (x-1) (x-2) (@) x> =27
I8 (i) 7o B9,

fx)=(x-1)(x-2)

f(x)=x"-3x+2
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fi(x} = lim &ﬂ%ﬁﬂ
m w' h=0

) .
x+h? —3(x+h)+2 -1 ¥ 5
= |im
h.aﬁ

i

- z c3x
" x2+h1+2hxﬂ3r—3h*"-x Bt
= lim h
=0

2
2 +h” =3k
i 2R
=20

hige+h-3]
—h-a-ﬁ h
=2x—~3
f’(x} .=2x+a—'3 -
Feoywar<t
(i)

 jaehS©)
ro-BEm=TE

savtive USTE |
1 e 2. First Principle € AT &8 Deriavtive

\ Fy=x

.1:)'—*-%"3“’2
. S

_ fxei- 1)
ra=m=5"

- By - 3
= lim _______}__,_,__.--—-
=0 4

(x*_k)ﬁyz _‘x-an
= -_._“.__—-u—-—-—'-"_-
T xtheX

= -3/2
= lim __35__1._;—:+hfataﬁr—>xuh—>0
r‘é’x-!-hla, -0 X

. =3 x—311—l.

-3 a2
rey=3*

Pl
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wifs™ 1(D)

{, I fsi r First Principle 2 fyats &8 Derivative U7 &9 :
(nf(x)za,fsnfwafearmmm(ﬂ‘m&n

L o Fane
@ fey= 10 @)D= M@= ‘
2. % fefint € First Principle & fiyata 57 Derivative yITES:

1 1
0 JZrr3 @Y 7 o) Jx+ e
:ons) & BEleT (Derivative)
gy R &a=% (Functions) e
Derivative of Some Standard Fuactions

1. »SS (constant) function T Derivative fA%d (zerc) Fer
"y )“ﬂ.ﬁaﬁ’f(x)- ¢ few nfg® function 1

_ fx+) =)
fey et '@ =E—To_—"__h_——

=€ lim 0=0
kb0

4 my=nttneN |
faew 2. dx(x") " | :
g : W5 B¢, &) == |

’ _m_ﬂﬁ_"};ﬂﬁ putx + h=tasx > Lh—>0 \
f?ﬂ'm, f{x) _ﬁ-'l'o h

. (x-i'h)“»x" \
= G-

‘Eqa}{ i et +b =n(@xX+ b} a, ﬂer"-
. E (

¥} = {ax + b)Y
s &Y, Jix)
= i JEEDSD
fierr &1, fe) =0 h
[a{x«-h)d-b]"-{axi-b}"
A
bl
T } n ‘l
. i( . (1 ah } __{l
m;ﬂﬁ[(a”b) h T x+h |

7

s
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bt

2
1 ah n(n—l)( ah )
- ’g (ax+bY° -};[1—&-:{“*.3)4-——-»-21 e

““‘(a::b]u'l]

i . | na 0]
n-};(ﬂ+b}’&[m+b+o+...+
£@) = na(ax + by
hqur‘u,%(a')nd‘loga,a:-o.asl.
e s %Y, f@) =a
. J(x+k)-f(x)
few e, ¥ ' B o e RS
IR it
T M
a1
" h0 h
. d'=1
ehma .
J'(x) =d'loga
Cor. 5-(¢)=¢"
ye : W5 55 a = e ufed feGan e

d
;(G") = loge=e*

d

d %
e S, z(bs"x)_xbsax>o

. x+h)- ()
RS : o= P
£ , log (x-i-h)-ﬂ x
= A h
X+
. =
o h

73

Downloaded from https:// www.studiestoday.com



Downloaded. from https:/ Www.s.tudiestoda_y.cqm |

12

log, |1+
= lim
h—0

h
logmi
hix - —
= lim M—ﬂ {log, m logn
h-+0 hgcah

L J0EQEHLD)

e

log, @ &0 x-hix

1 g, fopOeAD)

——

- xlog, @ h=0 hilx

( 1+ )
1 { jim 10203

=;1¢gea ix—*o b o
1
d = —
d -—..l. x>0
Cor. -E;(logx)-" =
W'WW%‘YE’a = ¢ in above faga,

d S TN
dr (log, %) = loga

d ol
z (logx) %

o L mi-eo

. f)= sinx
T fo=r I

sin (x+ f) - sinx \\
e BRI
0 h

+h+x),. x+h—__1]
II A=0

2‘,0,[2*;"]@ hi2)

'
2cos (x+h/2)sin (n/2)
e S
0

7y
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sin (h/2)
sli‘t_,nboos(x+h12)—m—'
= cos (x+ 0) (1)
Sf'(x) =cosx

@
~—(sinx) =cos ¥
dx( )

fagun 7. f:-x-(cosx)rsinx

e J(x) =cosx BRI
. cos(x+h)—cosx { = }
s ') "hh_";o'—“’*“},_'—"_" h
x+h-Xx
e x+;+x]sm( : ]
= g0 h
sin (h/2)
=m—sm(x+hf2)n#hlz
sin (B/2)

- s O B

=ginx.l
f'(x) =—sinx

d :
—(cosXx) =—sinx
aﬁr{ )

fegwr 8. %(mx)*w'swzx
L f@) =t

S-S
s @ =lm Ty

. tan(x+h)—tanx
< - Tk s
h—0

1 {sin (x+h) _ sinx]

=h-+0; cos(x+/h) cosx

—_

1! sin (x+h)cosX ~sinxcos(x+ 11)]
hh-?O}l- cos (x+ h)cosx

1 sin{zx+h-Xx)
1m-}—1-————-—-—-"

iif-;-u  cosx cos (x+h)
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- Bim sin &1 1
b0k cosx[cosx+0]

%(ﬁnx} ] - goc? X

fagaw 9. %(mtx)?mwz*

% B8, J(x) =cotx
FSF_ fx+h)—f(®)
L ') = '_—“_'"'

. sec(x- h)—secx
R - S
B0 h

1
5 [cos(x+h) oosx] h

[eosx—cos+i) | 1
™ pa0

cos x cos (x-+h) J h

4 -h\1 5 x+h-x
o G

-0 cosx - cos (¥ +h) A

L sin(x+h/2) sin(h/2)
T p0cosx(cos(x+5) /2

hmsm(zx)
0 cos™ x

—d-(sec.r) = goc X tan X
dx

mﬂ.%(mx)ﬁ-oomxmtx

WS : ‘ J(x) =cosecx
v o i TR
~ f®) -h—)ﬁ M
i cosec (x+ ki) —cosec x
= 130 h

s 1 1
T J!l-rfo'}; Lin {x+h) sinx]

76
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| [sinx—sinx(x+h)
S e
= lim —

jso h| sinx-sin (x+h)

l - sinx-sin (x+H)

m'}"{ ginx+sin (x+4) }

2008 (x+0) sin (A/2) .2]
- im ‘;[(d)f-;-,;;-’ TGO 2

S
= lim -
hs0 sinx: sin X

. tx
d = |im —cosec X 0o
= (cosecx) T T

X
a1 = ve

__,.(f} u(x+1)¢‘
Derivative 89 :
-Mz.%smﬂf#“mme“ e 4
(g)oos"x(ii)unf

77
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& () J(x) =cos’x

, . fx+h)-f()
Frop =jim ="

. cos {(x+h)- cos® x
= lim —m—mm—m——
Jr0 h
. 1:1-5.1112(.15-'r}:))—.(l—si.nz x)
= lim ;
h—=0 1 ‘
{sin*A - sin*B = sin (A + B) sin (A-B)

. s'mzx—sinz(:ﬁ-h)
= lim
=0 h
—sin (2x + k) sin b}
e
wﬁm(_}sin(Zx-ﬂ-h)siuk ezt Decoiinte
a0 h

f—(ooszx) = - gin 2%
dx

1
) %(““ Vi) =secl o

flx+h)- (%)
@ = m——-g“—'}

. tan .r+h-—lmw';
= lim
-0 h

sinvx+h sinJ;

= lim Cos VX + .‘.t X msgx

h—>0
< fin sin Vx+ hcosvx ~ ~sinyx cosyx+h
=0 i:cosJ_-t-hcosJ—

P - R
=khfo Jx+h=x cosVx+ A -cosx * i
{Ratlonalising}

) sin (N +h— J‘)Hm W i D o
=b“-m§ Liah-dx  mocosyx+h-cosx-h

78
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_ Jx+h—/x X\/x+h+\/;
cosvx+h COS'\/;}I Nx+h +\/§

x+h—-x

B h.cos\x+h cos\x(Nx+h +\/§

1
=lim
h=0 cosvx+0 cos\f;(\/xﬂ) +x

11 T
m—— = gec? %,
2+/x cos?/x 2/x

nfg ™ 1 (C)
1. 3% f&fnft & w.rt. x Derivative &9 :
1 | ;
B ()~ (1) (3 )’
( )x“‘ (1) ¥ e (
2.3 fafmt § wrt. x Derivative 99 :

(f)?j?(ﬁ)\/;? (i) \Ax+6(iv) (4-3x)7

3. 35 fafumt & wart. x Differentiate 9 :

(@) 3* (i) log, x (iii) log, 7

4. 35 fafumt & First Principal € fAUTE &8 Derivative &4
(i) X" (ii)e ™" (iiiy a™*

5. First Principal € fAG"3 &8 Derivative J9 :

sinx

(i) sin 3x(ii) sin(x” +1)(iii) —
Sdiefes 93 g9 y™H fa@ant :-
faQaw 12. %(cf(x)) = c%(f(x))fs*ﬁr ¢ few gramee (AfEg) T
9% : H5 8%

g(x)=¢f(x)

s g'(x) =l

h—0

- g(x+h)—g(x)
h

i = ()

h—0 h

=lime
h=0

[f(x+ h)—f(x)}
h

=¢f'(x)
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5
5 B8, o(x)=f(x)+g(x)
O(x+h)—0(x)

a
fagow 1. 2 (x)+g(a)]=—(f(x))+£x—(g(x))

- d
few E(ﬁc)+g(x)):£f(x)+ajg(x)

- ) d 1 d
feriy ags : C—ix[lel(x);tC‘zfz(x)+...+C”)j,(x)]=4:‘;—rﬁ(x)#ngi;jg(x)+...+cn—j—xj,‘,(x)

I8 Gurgast
1. J5 {58 e@at e ¢ x ' € 99T fezdaq 9% 95 -
()x*(5+3x) (7i) 2 tan x-7 sec x
UL«B‘:(D
d -3/ A, ‘g - =2
E(x (>+Jl))=6—h7(5x 34532

— d &3 d a2
—L_ix(:)x )+£(3x )

=5£;(x_3)+3§;(x_3)

=5(=3)x™ +3(=2)x~

-15. 6
N

(ii)
d d d
—(2tanx—7sec x) = 2— (tan x) — 7— (sec 3
o ) dx( ) dx( X)

=2sec’ x—7secxtanx

xIUU x"-}‘) x"

=

2. J(x) T +"+r+1

figad: 1) =100(0)
100 x99 "
9T f(x )_EE _93-'- +T+.1.+1
| _xlUU 99 ,-)
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m\S Wyl STV

O

dEr YA (LHS.) =//(1) = (1) + (1)%8 + ... + 1 + 1 (100 terms)
=100
HAET WA (R.H.S.) = 100/7(0)
=100[0+0+...+0+1)]
=100
YT YR = MR YT

feaas 3. V= 3;—1rr3

&V o ay
= Eicate e g]m o ad 100x @ gagg 31

&

w3

I

%.3r2 =4’

Wla w

'
&
dr

%
&, =4n (5P =100x

Qees 4. AT 7 () = o, a3 u=£:2.
¥s: JO) =ax"
f'@) =u%(ﬁ‘)=am""
x§19353, S =an(1yt=an
n

Geas 5. = log, x + 108% + 087 | 4I08ex % e
3 wput wrad gt fy, £08A9) = f(x)
a'%8a® =n
log,a =1
log,x =1
oz = 8T _ 3
3By

y=1+2+3+3=1+35

4l
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mfem™ 1(d)

fesfnt & wort. x, &7 Derivate 3 ‘
. ?f?(sf +3§—T)r(x— D GEpxt (3 - 4x~%) (i) X" rat+ @ XA

n. 3% fusfaut § wrt x, 8 Derivate &9 ¢

x+ad*

2
(:)x4+713+812+3x+2(if) (Ja_c-r—j;-]

3. féﬁmﬁx%}f’ﬁ? Derivate Y37 &4 :
(fE)y=x3x=1 (i) f(x) = 99%, %= IGOWH%I
4, ﬁﬂ'ﬂf{x}=f‘*ﬁ3f'(l)x 10, n HS

&
S.ﬁ'ﬂﬁz=t5--3t"+2:3+8."-&'ﬁ1

dz
t=0, 1,5@-&-}; AL !

6. Derivate &9 :
cos(x-2)
o =

sin (x+ @)
sinx

cosX

7. fefgt aret ourve T tangent o B8
=3t —-SP +2atx=1

I}iffe:enﬁatiou @r (Product Rule) §&3 §&

0 )

(slope) U &T :

d &
feQeot - %{ £3).80) =105 BN+ 8D Z U (€2)
| P () =/ )-8

e $(x+ 1) - ¥x)

R v B },l_'_nm
— fim flx+h) g(x+;1)—f(x)g(x)
h=¥0
- ) g(x)
Fr MR ffxftx 1‘?.% g(x)—f(x) g(x)

._-'. ___.—-—-—-""__——.__
Lo A

FFwIwT !

fa+ by g § A S f(ﬂh)#ﬂx)]
h

=umf(x+h)«[§(iﬂ%:§(3')l+g(x)[
=0

= lim f(x+H) g+ g(x) f1(x)
h—=0
- f P+ gD
d
ve) =1 )+ g Z U

£3
Downloaded from https:// www.studiestoday.com



Dpwnl-qad.ed-:from htips// www.studiestoday.com

Product Rule §f JuE € gdtar|
& fanction & Product € Derivative= (ufgwr #aEs) x (Derivative o daws T + (§F Taus)

x (Derivative yfa® ¥aus ©7)
I Geaast

Qewes L.x & w.rt. Derivate 39 |
() (2 -5x+6) (3 +2) (i) 2 sin x cos x

G g f(x)=(x2—5x+6)(x3+2)
Product Rule, f’(x)=(.t2-—5x+6)-§; (;3+2)+(;3+2)~% (2 =5x+6)

=(xz—5x+6)(3x2)+(x3 +2) (2x—5)
=3.x‘-l5x3+18x2+1x4-5x3+4x-10
= 54— 203 + 182 +4x - 10
(i) f(x) =2sinxcos¥

£ = 2[5'1111‘% (cosx) +Cosx gx- (sin x)]

=2 [sin x (- sin x)+cosx. cos X]
=7 [~ sin? x + cos” %]
=2 [cos? x — sin” x]
f(x) =2co8 2x
2. Derivative w.L.L. X.
f(x)=x%¢* + x*logx.

d d d
I f'o=> ‘ij () +2 s (logx) +¢* % (%) +logx 4 %)

=x5.e*+x6.-1;+e=.5x“+logx.ex5
') ‘xs.e’+xs+5x"e'+6xs'logx
mfgwH 1(e)

1. %W?Deﬁvaliveu@ﬁ%:
@ @x =T @x+9) (i) x (x = 3) 67 + %)
2. I fafemt e Derivative ys3TyE :
() 2° & (i) € (x+ 108 x)
3. Derivative ygrag:
() ¥ sinx logx (i) x" loga e
Differentiation €' Quotient Rule

4l 1 _—g® 0
faga: dx[gm] i

i
i ¥ =g

§3
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. Y0 = hhfo ¢(x+h;:-¢(x)

1 I

o i glx+h) g(x)
=0 h

T g(xX)—glx+h)
A0 hg(x)+ g(x+h)

_ _{gcxm)—gm
A0 | g(x).g(x+h).h

- s . [ glx+h)- g(x)]
-0 g(x).g(x+4h) h

-]

s B

i[‘,.!.._] I
x| g(x)| (g

d [ f(x)} &) LX) f(x) g'(x)
Cor %\ ¢ )P
Aff@] _df . 1
dx[g{x)] dx[f(x) g(x) |
df 1] 1 d
g |, 1 4
i [(g(x))2 oM
d [ﬁ_.g] 8RS ()~ I() g(x)
dx | g(x) [P
- Iw Qegast
Gewas 1. 35 fefipsnt & Derivative UgT 99 :
m+bh 2
D ed P i i
_ax-i-b
s y T x+d
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i O

(cx+d)-—-(ax+b) (ax+b)-——(cx+d)

ﬁ-l@-

{cx+ d)

(cx+ d)(a)— (ax +b)(c)
{cx +d)"

_dcx+ ad — aex— bc
(cx+d)'

_ ad-be
{(.:x+d)2

G ﬁ-lﬁ%‘ H-IQ-

2 .. xz
(i) W=

x+1 3x-

(x+l}--[2) 2--(x+1) [ (3x— 1)-—(;2)~;2 Gx-1)
(x+n2 { (3x—1)2

&1&

g3 [(3:; 1) (2x) - 3]
T (x+D)? GBx-1?

=2 __(6::2-—2):—-3:2)
T xD? Gx-1?

2 (F-)
'(x-t-.l)z (3.'!:—1)2

Genges 2. Derivate Wirt. X.

e +sinx
1+logx

(1+logx)D(e +sinx)—(e* +sinx) D (1+logx)
(i»l-iogx)2

EHQ-

> 1
(1 +logx) (¢* +cosx)—(e” +sinx) [;)

(1 +logx)?

x(l+iogx)(e +cosx)—(e* +sinx)

ﬁ-l@-

x(1+log x)2
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wfgwmT 1( 1)
1. I f&ftert © Quotient Rule 878 Derivative UST &7 :
B A, . ax+b
() @) —5————
x—a X +qgx+r
2. Differentiate w.r.t. x:
. Sinx+cosx .. Cosx
) ——— i .
SINX—COS X 1+sinx
3. 35 f&fipt 2 Derivative U™ &9 :
, e’ .. €' —tanx
(@) = ) —
l+smx cotx—x

dUde 840G (Composite Function) @7 SdS¢ Derivative
&3t f&WM (Chain Rules), 799 y fo'q fegadt Garews w o T u,x €7 SIS I It
b_dv du
dx du dx
I8 Gegast
€€™995 1. Chain Rules € HeE &% 349122 Derivative UST 55 -
(7) sin (cos x*) (i) log (x+ m

I&: 588,  y=sin (cos x?)
Chain Rules €tcos x°& 1 995 3

U= COoS (xz) y= sin u
du . 9 d ) d}/
—=—sin(x")—x"° ——=Cosu
dx ) x du

=—sin(x*).2x

a’_y - d_y X .d_u = cosu(-2x Sill(x2 )
dx du dx ;

% = -2xcos(x’)sin(x?)

(i) y=log(x+~1+x?)
Chain Rules BT x +vI+x* & u 3953

y=logu u=x+vl+x

o T PR W £V

du u dx 2414 x* dx
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J1+x +x

-
+
"

It

-&; Jl+x2

ple BlE ®E
E“\%‘ R e
BB

=

]
-3 e
X

B|&
]

&7
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urs-3 fesfeardns
INTEGRATION

Intergration & Differentiation € 8% fouir fagr aier 71

Hag f(x), g(x)eT Derivative 8% J< 37 afg Aa® I fa g(x), £ (x) €T Anti Derivative G

Integral T

[ f@de=g@)+C
e.g. g; (sinx)=cosx+C
= Jcosxdx=sinx+C
Had C Iet Constant T 3
%(sinx+0):cosx
few =&, jcosx dx=sinx+C

g3 et ufggmr 3 fev fi'w §er I fa fai ewe v fsfeas (Integral ) fed ot (Unique) adt der
fed eBs © gEt fesede® J Adw I8 # fd Constant C F fsg99 ade a5

Ha9 , jf(x)dx =g(x)+C T3

&g j(x)é Integrand farar #er 1
dx & differential fagr #eT J1
J—) Integrand sign 3€T J1

g Y/ Integrals :
n+l

ax -_H+i 5
1.—£\ ]=x"n¢-l:>'|‘x”dx=r +C

dx\ n+1 n+1

%(.\')=1:>I1.dx=.\'+C

12

“dx| (n+Da

w e
i{m} =(ax+b)',n#1.

A+
(ax+b) &

J-(ax +b)'dx= i+

d . : ’
3. —(smx)=cosx:>jcosx dx=sinx+(
dx
d : .
4, —*(—cosx):smx:bj.smx dx= -cosx+C
dx

o d 2 i
5 d—(tan x)=sec x= Jsec‘ xdx=tan x+C
Ad
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6 ﬁ-(—notx}scoaeczx = ]oosec’xd::—ootx+c
"

.7 -g—(mx)=secx+taﬂxd:=> secx+C
" de

= C
8 -‘i—(—oosocx)=coswxcotxﬁ Ioowcxootxdt —cosec X+
tdx

i 1 % c
5. & qog (= = [ar=walelr

10. %(e‘):.s‘ = [F =" +C.

a
11. i(&;}sg’,a)Oaﬁl, Iaxdﬁ=—b—s-;+c

12. -—-(s.m"lx) T_' = [T—wam 1x4C

=un" x+C

B —'(m I)=l+xz : Il+x2

1
14. Tssm 1x+C, --(aeo 1) :j:?:

wwwmpﬁ-
faan

i %(jf(x)h)sf(x)+c.m0hmm
2. [K fG)dr=K [f(x)de, wherex € R.
3. [l7exg@) = [F@ &= fsmre

s Qess’
1. 3 oot @ Integral 83
(§) & (1D sin 26— 4€*
3 (i)%(ck) =265
1
I‘u ax =—2-¢2x +C
-

d s
() -&;(ooslx) =2 6in 2%

39
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2 @) =3¢

d |-l

4 3x
— | —cos2x~—e€" | mgin2x—4.6
dx[z 3 } sin 2x

< 4
j(sinzx-u“m . —i-l—cos2x—§-e3‘ o
Ges 2. () [(2x-3cosx+e¥)dx =2 [xdr~3 feosx dx+ fe* dx

2:x7

== -3sinx+e*+C
2

2-3sinx ¢ 2
4 dx =
@ N cos? x J Y cos?

=2!sec2xdx——3jtanx+secxdx

=2tanx—-3secx+C

(iii) _[v"l+¢0321d1 = I42m2x¢=fﬁmsxdr=ﬁsmx+c

i - in? —2sinx/2cos x/2
-1| [1-sinx . A f cos™(x/2) +sin”(x/2)~2sinx
() Jemn [ l+sinx]dx =j (‘Jmsz(xiz)-i-sinz(x!Z)-i—Zsin(le}cos(x/?)

- [cos(xfz) (sinx/2)?
_.I > dx
(cosx!2+smxf2)

- (r(m) sm(fo)}

i (cos:!2+smxa'2)

I -l 1-tan (x/2) o
= 1 +tan (x/2)

= ftan™" (tan (x/4 - x/2)) d

2
% X b ! S <
=l 2 | s—mx=——+C
j(d 2] 42 2
2
=-—-—£—+C
4 4

90
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mifanr 2(€)

1. 9 fsft @ Anti-derivative by Inspection method &3 :
(352 + 42°) (i) ax + B
2. 35 fafist e Integral &9

2.4 X +3x+4
0] [[ixf;—“]ﬂ (#) —%‘——Jd@r Gip) [(1-x)/x dx
3. I5 fafunt €T Integral &3 :
in? sin x
0 I(2x2-3sinx+5\f;)dx (i) J{limw:x]dx (i) I[1+sinx]d=
4, Integral ST YBAE &3 :

() [tan? xdx Gy foot? xdx
5. 35 fefipst € Integral &9

1| f1—cos2x
() [Vi=cos2x dx (i) fran [ l+mﬂx}fx

6. %[f ()] =42 —;37 w3 f(2)=0,/ (X AF|
7. f(x) = sec? x + cosec? x — 1 3 f(x/4) = 1, find / (x).

gneT 31T :
Fgg [f(x)dx e T Integral v {er 3R I+ & 0 ot variable x & ¥E® & €T IT varisble
fa Integral ¥ form T&gR T ¥ fa
x=¢@®
1= [f(x)ds
x=4(0
¢ f
- =¢' (")
dx=¢' () dt

I = [f@+ne®d

1
reGaw 1. AT [F()de=g(x), [fl@+b)dx=glaeD)abeR

g 1 = [flax+b)dx
dt d:_dt
(ax + b) § ¥o€ 'S sothat a=— Le. &=
qi
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SNERAPCH B AR SRR S S R SRS RN A e

fi e, I = [flax+b)ax

1
== 1
=150

a

=%g(¢xx+b}
feﬁaq*uﬂaafummﬂmmaffﬁ'h:

(0 foos (ax+ Bydv=sin (@x+5)+C

an Isin(axd-b)a&u%lcm(ax.,.b)_,.c

(iify [sec? (a?+b)d*=%tm(eu+b)+c

() Imz(aﬂb)drw%wt(mw)w

) [0 (@ + By tan (@x+B) ds = s (@ 4 )+ C

(viy Im(m+b)wt(ax+b)dx-:£oom(ax+b)+c

(vii) I-—-n-— --Iog|ax+b|+C.

. +
(vii) Ie"‘”’dx e Lemt4C

__+C.u.>0.cr.==l

() Iu " a logo

1
e 3. () ]Lf(x}]"f'(x)ak=-[=f-(—)r—+—+c

S 4
o [ #=rsi e

do e G 1= SN S
f)y=198, fernwet f(x) dx =t

1
1= jr" =t oY

n+l n+l

92
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- 153
fDE 199 3, fxyde =dat
1=z =logls1+C
=log|f()|+C
fagQoi 4

@) [moxde=log|secx|+C

(i) Ieosxd¥=log'|sinxi+c
+C

x
(#in Imxd;:bglmx+mnxi+0=hg\ m(z_,._z.)

x
) ]cowxdﬂbsloosw(x—ootx)lw-log\tm(—z-] +C

sinx
Itnnxdr = I[;;s;)&
=— (ﬂ]dg
CO8X
= —loglaosx\-i-c
(@ I%mzosmxmc:}

=:0

='logsocx+C
x .
= COSX e = log | sinx|+C
) footxdx =
secx+tanx

]secxdx = jwcx[m)d:

i j(scclx-i-sacx«l-tanx) by
™ secx+ianx

(i)

SO gem c.
=log | secx +tan x|+ C{+ I‘}TS‘“ logLF) |+

sinx
L A

log | sec  +tn x| =108 | To0x T cox

1+sinx\
irsns

=he cosXx

73
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148inx

log | sec x + tan x| =log

cosXx

1

1—cos (m/2+x)
i e ————
sin (n/2+x)

2[R X
Autat ) oo —
e (4 2}

:l{)g

=log

n T I
Jsecx d =log|secx +tanx|+C

oy

+C

®) i

(cosec x +cotX)

L (m X LW
2sm[—4« +-E)cos(4+2

(coswo x +00t3) gy

)

r{msmzx +cosec X +CotX)

(cosec x+cotX)

{[F cosectx cot x —cosec” X

"

cosec X+ CoL X

,_mlmwx+wtxl+c

1

e
=‘03((aw:m:::+mt::)

cosec ¥ —cotx
.—-.-—-—-'—“_._..
=log wzx-«mtzx

=~ log (cosec x—cotx) + C

+C

1 cosx

PR
e -

sinx sinx

log | cosec x ~cot x| whok

, fea et

l—cosx
TR
sinx

i)

2sin? (x/2)
=108 S (x/2) cos (x/2)

e
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= log|tan (W2) [ +C
Ieosncxdt sloglcumzwcotx[#logltnn{m)]-i-c

Jw Qergast
eetaml.&a'fafuwalmgala‘a-
m og X )2
dx
0 s @ 152 qi [LoE
dx Jx+ —Jx+2
¥ I_JJ_+1+-J.'£+" Jx_+l Jx+2
(-\fx-i- JJ:+)
I(x+l) (x+"’)
_ x+1=x+2 b
1-2

=I(J;|-_5-J;ﬁ)dx

(x+2)3!2 (x+1)3f2

+C
3/2 3/2
1 ,,I.e_u_.lil-{éc Puu,an’lx=t
@ 14 % .
& =dt
"IB' di 1+ x°
:g"-{-c
=em"';+c
2 i
___I@ﬁ.’.‘_)—‘& Put log x
@i) *
1
—dx=dt
=f!2dl=-r:— x
3
=(b31) +C
3
Gees 2. Integrate 9 ¢

2c08x-38m¥ 3ginx
U) I(Gmx+4mnx) h I1+cotx

2cosx—3smx)dx " J[Zoosx—le'nx]dx
0 e i ] 4
i) 6cosx+4sinx 2 \ eosx-+2smx

75
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T AT
—— =L eSS o

1 edt Joos x+ 2sinx =1
52 P

d1ogt+C (-3 sinx+2 cos ) dx =
2

I =-!-log]3cosx+25§nx'1+c
2

2 p_sinxdr
et = ;‘E.;}“Jsmxﬁ-cosx
) sinx
1 ¢@2smx)dx
=2 -Linx+c08x

1 M+M‘ﬁ]m
=3 | Smxtcosx  sinx+cosx

Ll ;_'if_i‘:_"_"_“_’.‘.]ak
5 2

sinx+Cc0o8X
=%x+'1§ms{ainx+wx>+c
Gravsaw 3. Integrate 8Y :
g =g
xsin~ (x )dx (i) Ix x+2dx
o =
de : () Put sin™ 2=
2xdt
1-x*
[ = ﬁw%%i'cn‘%(’inﬂ'lxz)z*’c
2
g Jiest & o
et g+ & Polynomial f¥S Jar+ b B & yue fdarwrer
Jx¥2 =V
x+2=y
x=0F-2)
dx =2y dy
W P P
=2I(yz—2y1)¢b’
96
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=2 3
RIS L1
5
. i___?i,_’ii-—dx
Gewas 4 Jgin (x+0) gin +o-) Q) 4
=rsm(x+u)
{x+°~)"’n dx
(x+u’-)°°‘ &
& rmgm(x‘l'“) sin (x+ )

fx—sind !cm(x-l-ﬂ)d"

=mc;!xfsmu. log';sm(x-i-u)l-vc
=008 -
e 2077)

W‘é"[niegﬁl'&a ) jmr :
1. 36 ]-sm—tx dx (iv) sinlxcosz.rdx v _T_
~ o) Kggg; (7- —4x)dx (i) j-i-;—"' dx (iif) 'Tl‘jf' J

- l(k)gx)

2. I ' Integrd b jie:&g(smx) & ) Ico i

& _ gy Fa*"

dx .
o Sreeer @ E"(“’g‘) a

£l }a& an 5 575 s D K g
i L
® < +e
1 ugrﬂlﬂ"
4. %Ww I(S )dt

® j}_{_‘jﬂ_ﬁldx an I 1428
l+x

;g ot o Integral T
dx @)

(ﬁ I ;I-l-x ﬂ.
6. %W?m E ) (x-l)md’!

dx
& ) Fgnx

97
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e S e e

g.amad ; (i) Jsec“ x dx (if) Icosech dx (iii) _{tan"‘ x dx

dx
cos(x + a)cos(x—b)

9.IJ&dd : I

e dx sinx
10.98 dd : ] 1) | ——dx
@) '[H—sinx (i) j\!1+sinx

f3de M3t € e9y® & <93° I9d Integral TS AI&T (Integration Using Trigrometric
Identify) :

Type 1. 749 Integral J-sin’"x dx A Jcos"’ x dx € 9339 <9 I=2 3T vt I& fafomr gaya &

F93 9 Integral Fae ITI

% 1—cos2x " 3 14+cos2x
(f)sin” x = (if) cos“ x=
2 2
—_— 3 . | . 1 3
(if) sin’ x ==sinx——sin3x (iv) cos’ x—cos3x+—cosx
4 4 4 4

Type 2. 799 Integral jsinmxsin nxdx,_‘-cos mx cos nxdx €t g&39 &9 I2 37 vt To fofont
grayfemt €t =93 gatar :

2sin Acos B =sin(A+ B)+sin(A— B)

2cos Asin B=sin(A+ B)—sin(A— B)

2cos Acos B =cos(A4+ B)+cos(A—B)

2sin Asin B =cos(A — B)—cos(A+ B)

I% Gegast
€ewds 1.  Integral 9
()] sin® (@x+5)dx (if) [sin* x dx
SR
() [ sin® @x+5)dx = %—j 2sin®(2x +5)dx

1
=§Il—cos(4x+10)dx

—1-[x~ 51n(4x+10}+c,
2 4

(if) [sin*xax = [(sin’x)? dx

:J(I#ijszxjdx
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T ¢ xr e ““‘.’""*‘_

=é”:1+cos: 2x~2c032x:| dx

1 1+cosdx
= Zj{l —2cos2x+ ———')——J dx

1 I[2—4cos2x+l+cos4x}
—_— c -
5 ix

4 2
_J[ cosdx 4c0?s der

sm4x 451113’1 <
~—j = +C

@'E’mz‘_[sinmxcos ny dx 2 fEEm&nfed +ve Integers T51

I 1= J.sin mx cos nx dx
fer §€995 € € case 75 :

1 ;
case 1. Where m # n, 1 :Ej2s1n mx Cos nx dx

= %U sin(m + n)dx + Jsin(;n —n)x dx]

=_—_1 cos(m+n)x . cos(m—n)x +C
2| (m+n) (m—n)

Case 2. When m = »n 37 "HT Double Angle formule & =93 ggiaT|
. 9
Izjsm'(nx)dx
=%_|‘2$in2(nx) dx

1
=— | (1-cos2nx) dx
= )

ciy
:ll:x_sm_m}rc

2 2n
=l{x— sm2nx]+c
2 2n

Type 3. jsin"' xcos” x dx

Had sinx is exponent € U=d 29 T Stcos x = ¢ I
Hd9 cos x VT U=RT TH T I sin x = +IT

HI9 €8 €T =g 2'a@ I 3T sin x A cos x = ¢TI

8Ee 995 3 TB AT : (z'}J‘sin3 x cos’ x dx
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cosx § 1 F85 Fcosx =1
fer s —sinxdr =dt

lujsinaxeos‘xdr

I = Isinzx.cosgx.sinxdx
sj(l-coszx)cos"x.sinxdt Put cosx = /.
=-I{1—F}(r‘)dx —sinx dx =adt

- ]'(—a‘4 +8)dt

1 =Isin3xcos5xdz cosx = I, —sinxdx = df
()
= ‘[(l--ms2 x}cos’x.si.nxd::

= fa-#) (@) (-dn

=I(IT-Is)df
6
z-‘i--{—+C
8§ 6
1 =%ooaa.r-16-m6x+C.
wifsH 2(¥)
| Y ud: "
@ Join?xax () foin®xdx
2. Jzad: . .
0 Icasaxa‘x (i) !am‘x cos” x dx
3. Jmae:
) jsian.coﬁxdx () I‘”“"m”‘h
4. Ipad: .
(0 foos® x5 s () st woor x4t
joe
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4t
7 sk ..._ ..... H t 4 _J

e I

T HW Integrals (Some Standard Integrals)
dx .=
wporcr Fg =)
- (—i) +C
a a

wy = ———los o
d 1 a+x|. e
@) jaz_ —2al°g a—x M
(v) I-J——z—-—"dx = =log x+dx7‘-a2 +C
xz_g_
dx 3, 2},
(vi) fom'T =log| x+Vx* +a” |+C
X" +a
[ = e
%:(0 \)az—xz
¢ = asint ¥9, sin 7 =x/a, ¢ = sin”! (x/a)
" gifg de=acostadr
I acos! dt
' Jat —atsin’t
_I acost dt
a2(1-sin1)
Iao&s:d’_jd‘
acosl
mt+C
[ = sin~! (xa)+C
dx
(i 1=f5 2
< x=gtant 8|
;errm‘t dt =asect t dt
_[_asec Srat _[ sec2
RPN
1
=— |dt
=3
fol

day com
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b —

(i) f 2-aty ‘(x-a)(x+a)

dx
_I [(x a)(x+a)]

1 dx-a)+(x+a) 0
“2ad (z-a)(x+a)

__}_ = ]d:
- (x—-a) (x+a)

_dx
ﬂ_ I(x a) 2;1 (x+a)

=%bs(x_a)_.5‘:]og(x+a)+c

1

x-a
r.—-—hg

—

x+a

+C

. 1 x 1
) -5t (a-x)(@+x)

___[(a+x)+(a—x)]

(a=-x)(a+%)

& [ e | ]
2a|(a-x) atx
PIRE N 2 [__.‘f‘
_{az__xg 2a I(a-—x) 2a“a+x

= 1
=.¢2-§Logla—xl+—-2;103'la+x|+c

1

= ——

2a

1=} -
v) J:z-az

a+x
+C

a-—x

[=F|
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x-amfmg
: ferr &gt dx = a sec ttan s dt

asect tant dr

T 2
azseczt—a"

gect tant di

= |e—

aient

= [secr
[ =log|secs+tant|+C

2
2P
=log|x+sz—az ‘~loslai+c
1 nloglx-nlxz—az

=log +C

+Cy Cy=C-log|a|

pof dx_
D P+at

x-atnnwa'ﬁé”,d!'““" dt
j- asaczldf
:iq?'m_nzt+a?'
asec’ ¢ dt
=I__.__2_..m jsuctd:
asec” [

,1og|m:+tanti+c
=log|secs+tant|+C

=log Jl+mzr+mr\+c
=hglJ1+x’fa3 +x/a
Jaz +x° 4%

a

+C

'=]°8 +C

=1oglJa2 +x +x|-loga+C

Iam‘;+yja‘z+x" +Cl Cl-C—-lozlﬂl

los
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dr j'-——é‘-——-
(#) I4+9,2 22 +(3x)

s
Ha

Geows 2.

0] JJS Q) 4~sin? x

X =935 3, 48 dx =dt

104
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1 ¢ dt 1. -1
lﬂzjﬁszsm {n+C

) =% in~ (&) +C

cosxdx
@ |
4-sin’x
sinx & 1995 3 sinx =1, cosx dx = di
- d’ = 1 _l L +C
I"Ii4_rz i [2]
= l m +c
sin [ 2 J
j—(sm.r cosx) j(smx cosx}
g 3. +sm2:-
r (sinx — cos x) dx

Jax ;
JJsinzx+coszx+25mx003x—I

1 (sinx —cosx) dx
JJ(sin.m:u:mu:)z—l

sinx+cosx =1
(cos x—sinx)dx =dt

1= -
V-1
=-log ;+J:2_-ll+c

I =_.zog[(shx+oosx)+\j(sinx+wﬂ)z"l]+c
=—tog[(si.nx+msx)+ Jnian-!—C]

Sees 4. I(Jm+m)d:

&£
i

;(\zsm} + («Jcosx)z

J sinx JCOSI

Jos
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S A B e S s B

]-{sm:c-i-cosx)

£OS X
sinx v

”

-

sinx + cosx) dx
=

sin2x

(sinxﬂ-cosx}dx
—
=3 sin 2x

sinx—cos x =1 998 3, 2
2x+costx—2sinxcosx = .
sin® x + x= i -
(cosx+sinx)dx =dt 1-sin2x = £

m-ﬁ 2 inz.r"l-f.z
5= y
= zsin—l {t}+C

I =2 sin~! (sinx+cosx)+C
wifeA 2(9)
1. 559

dx dx R
%) jm Gh I;T:f; (1if) ‘[xz-—16 (v) jl—xs dx

2. & ad:

sin 2x coS 2x

&
ax (iv) I oty & W) I;zx__';

3 2
0 i 3 0 [
3. dad:

(J)J—_d‘(li) 3+xdx

4. Integral I AT :

gin x + c0§X)
sin2x

5, Ywag: [Jeeox-1dx
6. We-1dx

|ob
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Answers (§39)
g 1 (a)
1.0 2.1 3.-2
wifgnrH 1 (b)
: 5 1
L (D010 () 7 (W) 7
] = - -3 o, L -1
2.0 o 003X Ry 7 =
w1 (c)

=4 5
1. (D '1_5 (id) m (i) 15 3x + 4)*

=Ll .. S.an . S
2.() 33 6D 3% 7 0N e @) (4 _gay

~log (7)
3. (i) 3* log 3 (i) O (i) s (-log x)?'

’ aem ) aJ;loga
4, (i) 3% & + 2xe* (ii) 24 D) (#1) ST

xcosx—sinx
5. ()3 cos 3x (if) 2x cos (x* + 1) (i) S g

nifgwi 1 (d)

-12 36
1. (§) 20> — 15x% + 6x — 4 (i) -;—;+;l—o-' (it +a@—1)x 2+ .. +a+0
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d(dy
z(’aﬂ =C
WW@?WWWW%
@ aICdI = Cx+C
dax

Integrating [dy = [(Cx+C &
y=Cx+C+Cy

#
fegt F wrater 31
Quaas 3. 221 i § 31

dy _ 3
#,Wﬁ-xmﬂmw 1
dx \ dx

foid =
5 398 Integration 895 3 = fl.dx=x+C

Integrating, [ = [(x+O) &
: y =—E+Cx+cl
fedt Yo wrdter 31

w". %:xz ‘+‘ezx mﬁ#ﬂl

oy 4=+ i RS

ddy) _
E(a] 24

.I:3 1 2x
dy 2%\ de =T g 4
lﬂtﬂmﬁns —— S;I(Iz +€ )‘#_‘ 3 23 C

5 dy =[£:4+}£eu*c}&

3
x _1_ 2x dx
[nties‘mﬁﬂg I‘b’ = ﬂ-—j—ﬁ'zﬂ +C}

1%
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e S

4

x 1 2
=—g—e" +Cx+
; TR .
fedt Yo writer T

2 =
gewss S, %qzﬂmsx milass § e &
2
d&r:féa’fmﬂaaﬁi—%ﬂzﬂmx
d(dy) _
dx[dx] *2sin3x

Integrating % = _"(.1:2 +sin3x) dx

Qewes 6. %%nmzx witaes § 3 &9 1

Jo . g %=6x+soc2x mitass &t 31

d(d)’
dx

- — Z) = 6x + sec?x

Integrating % = J(6x+s0c” )i

& 6%
2

= +tanx+C
ay-{3ﬁ+tanx+0)d‘x

ntegrating [& = [(3x* + tanx+C)ax

12¢

Downloaded from https:// www.studiestoday.com



e ,_._u.i_.DownIoad,e.d,_ fromhttps// -WWW'StUdi_eStOday_ com

L B =§;i+logsecx+(:x+cl

y =2 +logsecx+Cx+Cy
fedt ¥ wrater

geass 7. E-z-%’m(cosx—-sinx) mitaes § IFaE!
dx

I WG %={cosx-—smx) mitags f¥at O

fex Y@@ i“[%) = cos x - sin » {&¥E T
Integrating & 3
2 =I(oosx-sinx)dx
dx
ot % =ginx~(~cosx)+C
: dy = (sin x + cos x + C) dx
e g Integration TT5 F
ay = [(sinx+cosx +Cy e
y:t.mcosx-i—sin::“l‘(lx'l'cl
fedt s grdter 81
wiEmTH 4(d)
s feetras it § o ad:
aty 2 _‘{E:Y—.:axzé‘-bx%-c
—d;"z“f“ﬂ s
2
d? 14y o~
§ %:e’+wsx 4. 7 o
| 2
dy_ 2. 6. 4 _1ogx
5. 5 =% +sin3x 52
dx
d%y 2
2 —L =fx~sec” X
7. %zxz e?* 8. s X
d’y
2 Z = =(1+cosx)
9_%z—sinx+x 10. (I—GOSZI)dxz (
a’zy in 3
11,—5_5- = gos 3x -+ sl 3%
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SRR eRcecTORI DS 1 WY SlIRICRIgnaYy-e0m

R

jons Reducible to Variable Sepa-
& i q95 T ueRE w3 (Equations
ferpt TV, AHIEEG @ RS
rable)

. ,,mgggmeraanfazﬁmm
& _ I(ax+by+6) ﬁ'mmm'
dx

ax+bytc=2

s GeaTs
gewes 1. (x—Y) %ﬂ i
dy _ 2 pitgas S
g - R @' 3=
%s& (x"y)=z
Y &
dx ax
- itEss ()
dz
zz[l—-z‘:j = g
& _a
1-— =—3
ot ez
dz _l_f_z_ﬁz”“z
at CR
)
2 4 _  |dgz=dx
A o A {Hf-z-a’]
mteglﬂionmg

1 -
(z+ )% -ilog[—;-ﬂ =x+C

a =x+C
- z-y+‘g’°3[;71_a] ”

D)

)& &
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b &
& dx
ge iaes (0% L1 teemsr . O gogy
.&; xl'l"‘c';;;- cOBZ 1+c082
[,ﬁ_!,_w]cg -
T 1+cosz
1 & =t
a* 5277
1 2124 =dx
At [‘“‘”"’ (2]]
Integrating ¥S5 3 LI T
z =m(ﬁ)=2+c
g
+
w x4y~ m[iil} S
X+¥
w* y "m"(”i*)w
fedt 5 wrdter 31

Qms.% = (4x + y + 1) mifes I 53

gxm&% = (4x + y+ 1)? moitews & 31
7=, dx 4 y+ 1=z

H &

b S

& dz

wt 5 4+ wt ) =g

dz s
1 @ » —tan - | =
Integration qI& 3, '[44-.-:2 Itit n3 [2) x+C
e
12+J.'2
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tan"l(.z—} =2+ A

2
# znzmn(lx'*‘l’i)
=y
nifem™d 4(¢)
fors fEa¥ S mffgs’ § $B 0
dy—cos(x'*y)
dv 2 2
1, (x-F)’)zjxﬁa
1
dy x+yt.
d_1.n Ao xtY
3o ok x-Y
gQao
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— A ro

ys -5 37T YRfAar 578 AreusE
(Introduction to Data Processing)

5.1 32T H H& AN ¢ fAdeH (DBMS )&™8 A’ Ug'a-

DBMS 3 §'= 3eT §H HanAH < fAner J1 DBMS f€q Aeeand I A fad Grg 3 Foa’ 8evd m3 BA &
feenfexs 3dta &% afufes f[<T AT Jde™ J1 T F'eT §F FU&'= € AHY * & AA3 JdeT J fAgaT fa
fen 391 &7 JeT I fAan § MuST B3 MgAT gEfenT A A, §F 3T MAsT 7% udfenr 7 Aa A
UEfu3 3™ 77 Ad | $7¢T 87 €9 H® Hu€ J ¢TI 72T I 9 38 M3 W3t € Ay JeT J fAn e
MU Wy f&g aet wdg &4t Jer| @egde et I, 18, fest, Sne wife) fer feg #ia, »iyg W3 aet
AURS 9 =t T Ao 98| fen 37T 3 wigw 3 B fen 37er & YAfidr a9s €t Age3 et d fAam 3 fa
wHT 738 gYT ATEddt YU 9 AATE | TATAET 3 e feg 37er I, 18 <ne fe st § Aear| fan e
det mag J1 A feq 3er € YAfiar a3t Aiet I 3T fou gus’ fe9 ges Ater J1 fen 3g° 799 mHt
o9&t & fan 3t 90 3919 &% f€a39 Jdle 37 87 & 37T &F faur Ater J1 DBMS f&9 wit 3727 §
B8 [T Hg® o gue I

(Fer) Data ———> (F9&") Information =——=> (37T &7 ) DataBase

DBMS € &79:-

1. frmmeT Wr3eT fe9 3727 § 3 Ji3T AT AaET I

2. TY-TY I €I S fede gaer I

3.3er § feq gAd 578 HTET (Share) F3T A AgET J1
4. gy w3 faa=dt €t Aos3 feer 91
5
6
7

o

.33 (Integrity) &1 gt J1
. et St fena3t fen § fast wirfapdT 3° 5t 98T AaeT|
. F-TF &7 I & oHT MIF gESEPHT UTATGS T €T AHJES Jd& BT AT dTdt € 39 WHaT Hee J1

DBMS &bt gratmi:-

1. feg drsze9 (Complicated) de J1

2. 3T YT IS ST YIIT Y JET I

3. Mg feg <t aet frmer €37 Jer J1

4 Hfdar ger J1

5. frmmeT grgseng € Agae Ul J1

6. We FufAet =8 FfuBeq few fer &t yefs™ (Display) €9 a4t Jet

5.2 9B HES® 3¢ §° HaAH < fAdeH

RDBMS 3 9'< fd@H&® 3¢ §H HaaH< A J1 fa8Ha® 37er 87 Hamie fAmeH feg 3er w3
cgsH € fe9 A9y § Tanrfenr Afer J faBfa forn € 2u% fe9 A9 &83H &dt T Aae | g9 fea cus &
feq I fmeT &Y T Ade 76 M3 29% feo8® 79 feq a8y o7 feq fesys s v ger J1

BeUdT BE IHeHT 3H € ¥ {9 JTHeHT &™H, THCHT Aedle, arAeHd et M3 mage &899 §79
ITBH TS|
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CUSTOMER-I
CUSTOMER_NAME CUSTOMER_STREET  CUSTOMER_CITY ACC NO.
ABC NORTH MOHALI A-101
DEF MAIN CHANDIGARH A-102
GHI NO. 10 AMBALA A-103
JKL PARK11 AMBALA A-104

RDBMS 298+ € g@ans gt J1 fAR 57 #iAt feq <u% €7 gAd <98 &% YU 9T Ao J71 RDBMS
fEg wirt feq 298 € I39T W3 IT&HT &7 AU T€HJ <98 &t I3737 W3 TBHT 378 ST g7 AdE T

CUSTOMER-II
BRANCH_NAME ACC_NO BALANCE
MOHALI A-101 10,000
CHANDIGARH A-102 50,000
AMBALA A-1047 1,00,000

foBHa® 3Ter a7 fAver fe'9 wrt AYT s=8< St dma YgTH3 a9 It | Yfendt ahd w3 896 aiH|
yrferdt a g9q 2% ST feq fesue ot g%t J1 fev fe'a aaH f<e grdt =79 &t =93t At Aaet|
Begge =+ §ug feue 2uw feg ma@'e 99 (Account No) fea yrfendt atn (Key) 1 fagfa feg
feq fesye I 7 at (Key) THT 288 & yrfendt ot g€t J1 8T ufos 2% €t 895 ot aorg <l
J1feg € T98H & A=26 © 9 qdel J|

RDBMS f&¥ f3s yad € A¥U €ane Je I&:-

1. feq 3 feq Ay fen A¥T fey ufod 2% &t feq 3 gAd ¢u® &1 feq 9 7% AdT s €<t J1
2. feq 3 o AeT:- fon neu feo feq 298 & feq I g <o St widd I 578 AeT s gt
Gr)l

3 M3 3 M AYU:- fen AT 9 ufad u% &bt MEaT I ERd <8 Tt MAaT a9 578 HET
g8 IS

5.3 erfe® GAfAar fAder:- 3 Harn< fAreH feT dfuGeg Yaremt e Ae § # fa erfest se€e
H&<E 996 Be! feq ArgT § »irfard feeT I fa ARET ded® d9s € aH fan €9 37T a7 Warfarced
7 HWfag & fe g = | feq mifroT fArer & 37 87 &t fAa 9239, 377 € o™, 37T & MisaT,
fswigaE M3 W3 3727 § 99T 3 AeT a9 AA<S €1 Afeur feer 32| evfe® YRTHaT fAneH fea mfmar
fAmer I 7 37T § MBI BT dfuGed efes’ f[eT Hea ageT J 1 efes YRTHaT fArer 37T § Adg
qd&5, Ho6eE 996 fe9 Hew adeT J 7 fa fea faudene % mifus 99a 839 €7 3=

srfes GATHar e Ehyr A=t (Limitations) :-

1. 3¢ €T §83T gdamd M3 FTeT fe T fgaar

2. 3T WAH II&T HATA® JeT I

3. 37eT &t Afaaedt we < J1

4. zvfer fammeT B areT J1

5. BT MBI BIT TTEBT MI SY-TY TINC 9 I I9& fedaT adaT HRfa® Jer J1

—_ -

6. JIHEIT &IT T

5.4 T HH H'S8:~

FeT EH HSS fed 3gT €7 & 7 A fa 3727 &t Bfnd 939 § fonfezg aeer JIvs gu feg ser an
H3% fsaurfas ager I fa 37 87 fan 39t &% fanrg a1z Afer 7, fan 37 7% Aeg ai3T ATeT I w3
At IS &% fam 3§ fanmg a3 AeT 7, fan 3g° &% AT d13T AT 7, M3 At 3d1d 5% fam 3q
FeT § yuar f[ET fanter Arer 31 3727 § YIThHas a9aT, 37T € MuN fey réu, 3e fET AfggsT &t
aHt »ife Ag aTet & fonrs 9 U d e 97 3% f3nd 3T ATeT J1 TY-TY 3¢T € ¢ TH H'SS
TY-TY it fT'9 <3 AT 75|
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ST 90 '3

|
| 1
FTTHIEE
HES

1. MrEHde MUTd3 37T H3&: fon 32T 87 i3 &9 §uaT § Manae € gy e feufenr afer
fAe fa nranae Gfeifés Uamriiar fee »irarae 37" 0 U3 f08Hss 3¢ 87 3 fy-fu Jer d, A
fa caza 3 murfaz Jer J1 fen 37 Haw &t fermaT I {9 fog o<t sodis! AggsT YE's a9 € Har &
w3 3T & art § Aure gy feg few@e & nirfarr féer 91 feg seran € Sfna 9239 § e
gaer I

Maintenance Obj-1 Obj-2
Date —
Activity 1-12-01 Activity Code
Code 24 Activity Name
Rate No. 1-96
Daily N Product Unit
Prod.uctlon Avg. Daily Production
Equipment 6.0 Rate
Late 6-9
Hours

2. faaas g7 3Ter W3S:-feT 37T 3® vrande 977 S7eT 3% ©f 37 Bfrd 937 M3 I &
fe€ =% & ufge iz g9eT J1 feu 5727 87 € BfHa® 9239 € 5% I €9 Uudt 977 € &g d35 99
orer J| fen 3% fT9 J9d faaas e faaufaa &1%s w3 ©n <1 fogufaa Suret It 71 372 97 <4-
Y TIve I HE F gfewT Jer 3|

3. gf3a (Physical) 3TeT &7 W3S: feg 3¢ W3 fonfez d9er I fa fan 37T € &% 37 87 fanrg
13T AT J1 33 3¢ 3% &9 2u% & 939, TBH M, IT&H €7 F'eT T, Urferdt o, Sa&
S M3 WUA fey 79T BfHs e 5|

Hourly
EMPLOYEE
emp_id
emp_Rate \ emp_id
€mp_name REGULAR
: emp_desig emp_id
Dept_id dept_id emp_Band
Dept_name

5.5 nicat fadasfay sear (Entity Relationship Model)-

niedt fagusfmu H3® (ERD) fea 3Ter afdar Areeama fertaisar feg femans < =%t fea
Fost Y8t © € fegrfoa e Ha® €t 3aa1a J1 €t 71 Saa Bl evar g 7S @& fg 39 &
gt mrg STfearH faar AfeT I1 €t mrg 3TfearH 37T 87 € ZfAd Aedadg €t fenfumT gae I&| € mra
FfearH fe9 Y- 4 377 &t AUR Fafam™ At I 7 fa feq &t g sfeary § se €= fee
HeT ggemt 35| faae o feq faamas, migun fea medifafe w3 sfers fe'a miu & ean@e g5
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gt »1g 3TfearH feq 37T 87 feus faaras M3 cus+ fega reut § feq fg'39 aat san e 75|
fea »igr 37eT 97 g8 Bet € w9 FTfearH €7 IS Agdt I 1 €1 mra STfearH € WEiHe 98-

1. foaras: fan &8t Al goaT fea3sd d9aT I9e I&1 €9 fan uans, aet af, det weaT det gt #f fan
TAF € =
2. fa@usfay:- € faargs feg m¥u § yarHa goer 3=

- Ne )
name . accthlo
5 _,.,-"",I f/ \"H-\._ ’ '\-\..______,-/HI
Branch Y, assets ) Acoount
*—-\______,-J/I S ——
- N
:-:m:ldrﬂ@s 1 I::al;anc:fr/f_.'

- )
L ocustMo 1 Customer
T _____J-"

5.6 STINBEIHHS (Normalization):—

feg feq fedt I 7 fa »igadie »3 €83 377 § 3¢ 87 fe 9 We Jaer J 7 fa fed 3 97 § dizse
g™ AgET J1 799 feq fagr s7er feq 3° frmmeT Aq) §ug Aed a13™ A= 3T §F & Ag™®eT 993 HAfaS
JET J137¢T §H SOHSEIHHS 7 M3 fed 37T 87 € g 37T §° QU f5ag93T & uaH F9s Bl fea
ﬁ@mwﬁnﬁmm@mﬁ@mmémﬁlmﬁmm—mmﬁé
yg feq fAd Siws I3y § £ e <8y <o ges e J| fAn &% 37eT € 883 gda 3 gfomm &7
AaET § M3 3TeT §F € AT 34919 7% A9 & T Aae! J1

Order Date Cust C_Phone | Sal_Asst | Part No. | Part Qty Price

No. Name

2335 17/03/07 | P.Gopal | 469876 Shyam P1 Wheel 4 75
P5 Door 2 68

2496 24/07/07 | Mr. Dutt | 956274 Ram P2 Widget 1 90

2570 12/09/07 | Ravi 864962 Ashok P1 Wheel 2 75
P5 Door 3 68

MEETINSTEIHAS 37eT

3T & STINBTEIH dd6 BT FfAIS HSUN <1 fea 831 @8 Jdat Ut J|

1. First NF 2.2nd NF 3. 3rd NF
1. ufg®t s7aH® gav (INF):- fer f&9 A9 T aHEss) mirenfea (Automatic) a1 | H3®Y fam &t
aH feg aegt 2 37er faute adt

9| FeT feq 3t uw 9 I=9r| 99 edt fabs et »iwar 3 2u% g8 M3 Yrfendt ah Ae a4 |
2. THAt 579HS 891 (2NF) :-1.39% € 399 A & feg vz 3<|

2. fea g f&9 yfendt ah Ae 3=

3. NF "3 ATd dPH IT8H Ydt 397 7% Yrfendt ot 3 fagga aae I3

Membership Id | Full Name Address
1 AMIT 1ST STREET NO. 1
2 JOHN 3RD STREET NO. 4
3 ROHAN 5TH AVENUE
Table -1 2NF

Membership Id | Book rented

1 Fundamental

1 C++

2 Visual Basic

3 Programming in C
Table -2 2NF
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2NF sTonsTeiins fE9 feo Aune I fa mrt 8=t €9 »idr a4t A7 Ao A< 3 &t Mt <98 § € fea
fAg How gy fev a9t =3 37| feg uw 9 Huafau mret st se=rar 7 fa yfendt ah d=at M3
fesys faargs & ufgars =3I

3. JHdT ETaHS AN (3NF):- 1. fer f[9 Ard »uS 2NF 298 & 3 NF 288 fe9 geBe Bl feq oo
& g9 I TFIT UL

CUSTOMER ID | NAME ADDRESS GENDER ID
1 Anil #490 West New | M 1
Delhi
2 Raj #912 West New | M 1
Delhi
3 Roshani 1st Street No.2 | F1
TABLE 1
CUSTOMER ID | NAME ADDRESS GENDER ID
1 Anil #490 West | 1
New Delhi
2 Raj #912 West 1
New Delhi
3 Roshani 1st Street No.2 | 1
TABLE 2

2. 2% &9 939 o feq Qu =g At <ng €t ferm3 578 HE e J1

GENDER ID GENDER
1 M
2 F
3 M
TABLE 3
5.7 fI8HES Ja7dla® 37er Mufd3d S (Relational Hierarchical Data Base Model)-

fem 3er v3w 9 3o fea & &t ma®  (Structure) f&9 Barfenr Aer J1 feg Aegagg
feseanms (FeaT/3er) § Ude/ TEI®F (Parent/child) AT §9T S9A@ET J1 IIF Ud<
(Parent) € fe'ar 3 frmeT 9TEt® s 29% T AAE I6| UT I99 9TEISF ©F fea ¢t Ude 2u% J=ar|
fe'a femm faaras € A9 gIe (nedt fage) fea ot fone f<o At U de o551

5.8 32<Id ST §H HSB-

&2TId T UH WSS mMrande M3 §Uat fegad At § sange set fea s9d1sT (flexible)
IdtaT yers gaer 1 fem sver 3w €ty femmaT few &t gu JuT (scheme) I # fa fe'a are &t
39t feuret féet 91 fAn &9 »mavde eEiy 337 w3 fa8mafay ety mad (Ares) & e
faggradt (Hierarchy) fe's d= Agdt adt1 few 37T a7 wss ST = fogadias s Ha®
39 Ude/TEIBT (Parent/child) AET J€ I& U3 I3 fda95 € WSS Ude M3 HBIUS
ITEI%F I AdY IS |
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T
. R

5.9 E.F.Codd's Rules-

gtedas & 12 fau ygtag i3 98 | 3¢ 87 &€t Haes (Benchmark) 351 feg 12 fem

fenr fsgen 5 fAgT 3 fo¥wa® 37T 87 foagq aaer T

fao 1-

fso 4-

fswH 5-

fsoH 6-

fswH 8-

famH 9-

faT 10-

fao 11-

feseaims 3%~ fa8Ha® 37 &7 f&9 Adt YT (information) BfAa Udd 3 AUHE M3
TH3< T 2um € fea 3g7 € Hat €t ySifausT aaer J1

T I 3%:-fed B Ha® 32T 97 fT9 gda 37 (datum) U'a 39 3 SfAast udedar &
# fa 72 € gu f<9 295 ahy, Yrferdt ad M3 & 5™ &% A J1

freHfea edtere mie 5% <8y:-fq ser ooy <9 5% <59 § f£d U3 g™ A &F
ST (inapplicable) € T8t €89 € 39 3 Alde YUI J1 7 fq 3727 & fami 3 fagga

ST JdeT < |

FTesHa M&-BTEtS ATTHTT 978 WM& € (B HES HSS:-F'2T 8 €7 96 BAdS
B8 83w e fagT I gdter 9 3t fa mifuafas gag fea 397 & foBnss gmr
T QUtar A= (interrogation) I9& et &9 AG< o fa 8T ATGS (regular) 37T 3 dae
J5 |

qUdTITA= (comprehensive) 37eT AY &qreH 358 d fawHa® fAver agt 3gt &bt
IFHITWI Tt 3T € e & T93 dder J, fea <t fea mifrgt g It sdiet o A
fa 3Teret ufggmr, 3Ter e Migr Guiar, Mus3T, Yfadds M3 8- M= §
Ufggmig a4

fe€ muafear g3:-Cv Ara fe€ (views) 7 f&u3t gu f[ »uz2e® (updatable) I3,

€7 ey T = Muz2E® (updatable) TS|

IET BB feasnde, Muse w3 f38ie:-fed fead & Muds € 37T € WAS AT 5981
foBHs & I3% d9sT, 37eT faedie o™ It 541 Aol 3eT TUS JIsT, TEBIT M3

fHe Qe <t arfv® J1

ferta® 37 fesstU3H (Physical data independance):- MUBTaHE Yaa™H M3 2aHiaS
IIStfeut BHTRT nicgd IfT AEht I5| A€ 39 37¢T Aed 496 AT <93< € I
feg ot gesT= &dt Jev

BHias 37T feastU3 T (logical data independence):- MUBTAHE UId™H M3 ToHl&S
aiStfettnt Bfaast niegd af AT I

fedtarfact fesa U3 (integrity independence):—fe'ar feim fa@ws 37T 81 fe9 izt

T fatigae ¥ 39 3 fo8Has 3T QU g feg ufggfaz w3 fea gt feg Adg I
7 fa mustams Teet f&9 st

fantfabns fesstua A distribution independence):-fea fadwas smer an feg 37 QU
IHT M3 FTeT &9 ¥€% (manipulate) FI& BT HfUITT HUBTAHS YA & I W3 feg =
UgT BIrgeT fa gt gfemT 37T Ffaast w3 fedtast aefda A fea fagr Sfsmr
famr 31
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fse 12- && A <906 & (non-sub version rule):— 7a39 e faBHs finer & d<% & g J1
8T & =% g mus3T € fou, fatigas & sHe W3 gEiuH &df a9 Aaet fagfa
€7 Tet =% g fe9 I

Different type of key attributes.

ST &t o o feT SY-TY 3gT Tt at ygTiEs SISt ATEHT 95|

1. yrfendt ab- yfendt aho fe'a faames & fesue gu fee ygris aget J|

2. <9& din- feq femmsT fan fe9 fea o feust <59 one o & yferdt atm a7 st
g
dufae dt- fea 3gt &t yrferdt din fam €t € A € 3 U femmzT=t g

. d33< atm- feq euw o9 fe'a aaH fan f&g yfendt atw g5 € darsT 3=
5. MBed &< ab- aet F IFFe a7 fa yrfendt atw e forr sdt m@ease ot mu=rger
g1
6. HAFT atw- Yrferdt ah e enaT 78|

STeT UAfHET 3 g€ H9&T (information) f&°9 g€% AfeT J1

faBHas S g7 HEmH e fAver feg 3™ w3 <uw fegarg Adut & EanTfenT AteT J|

g T TSB! T §STE AE T8 939 § & mra Ffemmar fagr AreT I
ESHIBTEIHE €919 3TeT € AdT 34d1d 7% YET 3T Arer I

st &t v fE'9 8 377 € ahf riedifabe =93 7e Is|

E.F.Codd 37T §F &€t 12 3& YI'H3 A3 951 figt & cods g8 € 3™ 578 A AT I&|

A L W NP

yT3t gi<T 99|
ST HANSE T B I AT v 939 3 fonfes ager J1

-~

e T a®E ST HBE oo L I SUUUURR T @TaT EgnTfemT JieT 3

%
d
4
:

fodwas e gn I ot = I7?

STONBTEAT &t 37

ST HSH ot g€ I&7

eTET® URfHaT fAmer &t det f3w Aivr=t (limitations) f&4 |
TY-TY 3¢ &t It € ST €A

J5 fafumr 3 &< fa)

1. foa9s A ST ST 2. IfF3T I HSH

g mie 33 © g%A § ufegrfaaz aq(femas feg fau)?

7T 87 HoAr ¢ fAaver € 579 fgy?

ERD 3fenaa™ ot 97 fea €t mra 3TfearH g€ w3 fenarg fee fau?
35 fafinr & ufggag a1

1) 1 NF 2)  2NF 3)  3NF
Adt /983 €R 1

1. 3eTEH FY& € AHT I

Ohn A W N

=

O W BN
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eTEt® URfHaT fArer fee eretst § Ag™ & &4t 3 fu Ater|
fo@Ha® fagaatas 37 H3® €9 Ude/avss A9T < 75|
STIHBEIAHS ST § YIRS &1 g8 |

fea »igr 37er 97 g=8< &et ER FfenrarH € g Agdt &4t J1
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Us-6 frver visTsfAn M3 faafes
SYSTEM ANALYSIS AND DESIGN

e Ug'e:- fAHeH WasiR w3 fsafes (SAD) fea Amer § »iad e, =ubi se8e w3
En & gragATet TUET, 39 ¥ w3 feaw € €0 § YU3 J9s &% AEfu3z J1 fev few
fAver w3 QU fAver T8 fan Baw § Ya™ 995 Bt fe 3 I’ taes © feg AT J1

6.1 fAameH iz s w3 fsafes @ fa@ 83 J ?

feq famer § fang 995 B8t € Hy aist 3 fegg digr AT J|
1. ey fem@me (System Analysis)
2.  fAwer fgafes(System Design)

1. fAwer fem@wE (System Analysis)-- fAFer e sfAn f&9 n9g gayg #as feas
gdaT 87 fe9 mivs yfafenw=t § miser, mifnr € ufgee agaT, 3 €ust &7 78 J9s

et €feg gy ¥ wrivs 31 few €9 Y9 S7er 87 T sifons (study) 13T AfeT T, 81
nas fed o d3 AT 76, FEaT € Y= (flow) , ity §79 U3 Barger 3 Buat €3 a9
UgT Bt AUTS B g aer 7 37 fa €93 fAed famma a3 A" Aa| fAReH W& e
HY §€F J9d HRfa® €7 o8& 89T, AT dIgT AeT J, fas digTAer J , d< fen § a9 foor J,
ae g fagr T fa a3 A fagr I W3 few fe9 fa< guia 13T A AaeT T A HE TS|

2 fawer fawrfes (System Design)- Sugar3T € AgaaT W3 HgeT fAHeH & yar mifois
96 € M9 3 &= fAFeH fsafes a1 Arer gdier J1 fev fAner & fsarfes a9s & A9
3 HI3=TYIS U™ J1 fer ug™ 3 Bfaas y=vat fAneH fearfes yemat grmar 3f3a yerat
feg ges At JI vy I 3 fem € € usm gs A feg € yg=t feg digr AteT J1

1. 7&69% f3ATeS (General Design)
2. A9dT3N (structural) AT 3w f3afes

faver femfes a9& Bet aEt 39T € 2Bd <93 A'e I6 8TII6 = €8 I'de, T B
femarH (DFD), 3¢ faamadt |, fsrtas <us, faras 2t nifel famew fsarfes fea Auas
famer & g% e (Blue print) I1 fAver fawfes 3 fasr fea a=t fAder f3nmg d9a 9g3
HAfI® T
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6.2 IO M3 IASIA (steps and technique)- fAHeH MEHTAR BT I& fBY g9 TJeH MU= €S
gdte TS|

1. fArer GugaraT g —(Identify system user) feT 993 It HO3=Yds YRS I, Aad IHT
QusarsT § g% A8 3T T T 3183 I8 faasdar| g »Ed fendne QudasT € 3%
3 ufggfaz gav I&| faffa Ag 3 ufost yrs feg J fa fAren & d< =93]

2. SugarsT € Wy <7 ufdg™fag adaa™(Define main users goal) 99 fea GugarasT e
feg yw Gen ger J1 fea QusasT 7 fAver § &dt =a3er 8v At mifir=r &7 % &t
dd AAET M3 EAJ UH A BUSITr3T fAHeH et g9 3d € Ui I93eT J 89 Jet Hafas i frr=r
T U8 1 g9 AaeT J1 faQfa grar yns feg d=ar fa fag* GudarsT fer fiAmer & =a3ar? €9
3t @ grder I fen fAared € Wee a78?

3. fAven =93 & ufga@a daaT (Define system usages pattern)-I9 fe'aq GusgarsT e
fea My fesgg & 399 J1 EeUde B HEAT an 3 MEe 3 e fes & ggr3s a5
I3 I AT € 530 § TY J FdeT J A AS UIAS MUS 3T YW GuddrsT € &5 I%
nS(attend) FgeT I , faHIH HEHT I3 5% € IH 9 3J fIBUT I I9 38 [nde € YAS'=
ser JI feg Ad Y I 9851 UT feg a HY 99& € AT 3 UM 39T 75| fer 575 398
A% f&g wr gt mifr & U3 g3er 3, 3t €7 & »Et 377 5% ANY Aae I M3 det
feu39 IT5 S B HaE T

4, GudarsT € GEW & UBT BT JT dHATHI I¥ BIST M3 I3 341 (Invent
functional solution to meet the users goal and usage pattern)- feg fug® Fed & Idfaa
(Logical), BIr373d3T (Continution) I UJ Afee AT I WAfa® oer feg Irt Aee T fa »Aw
feT mifrr fa= o% St A= AT Y3t J9 grfon 8% aTse3 94, det 78 Hae 3
87 & RueT, feg € 3 feye™ w3 »A® <93 © 3919 =& <ueT|

5. W& 3<19ms JA3T ufgg™aa aaaT (Define main navigation path) feg W3 »amsT aed
MH 39 3 e 4 € 575 fed & a3 7'E 76| feu 993 vafas Jer J fq fasT QusasT & 59
(track) fam Hafa® & T® Bg=T M3 IFUI (user Interface) SaTfear f3md JdaTI THI<
feQUl 3 g9 3fge It fauzg I8W FOsT GuT foms fE3™ AeT ardter § fAn § QusarsT a9
Fer Gug gder 31

6.  &ast Ul famma aaaT(create Ul mockups)-Ul Hervu A< Gudiar aaas=Tl fAmed
IS B UPAT I| UT SHEIS 3HS UfIUd= I&| 3H 8§93 3HS (sketches) € &7 oI JI&T
93 39 , AYT M3 NS 1 I9 JE H9dd &% MTUS™- MUST sH&T f3ng g9 AaeT J1
JG U T I9 feq HEg feu Aeer J fa €7 € o9 f€9 Hage I M3 €T =g Ul aysT famma
d ASET J|

140

Downloaded from https:// www.studiestoday.com



Downloaded from https:// www.studiestoday.com

7. 33t & uf@m 95T (Polish Ul elements)- feg »3 €8 g9 HUT J96 &et, et &
fgo39 g8 © wet ovET foq Agr<sT Jet J1 feg fea »er agehi™ J1 At € g 3
HI STYIS JI€ §79 A9l A fd 319 Yriae € Hg 9 3 g€ I 9gar| 3fds fons Ul
8UT frmeT AMT yage <1 83 a1 fa€fa fAge T fa fea™m Ea7a Ul gefdmT ar<ar|

fAver Mesfan feT fea ubdr fAmer (y==t) fame dos 38t Gudas aer &
SH-5T8 I IISIAT D FIISHT UehT I8 3T fa =ubuT fAared fanma T Aa|

1.  3rafaa 3er H3f&ar (Logical data modeling) feg fawma a3 77 9d fAmer €t 37er
Aga3’ M3 ER3=A € UfJ9'e d9& &F uafar I

2. 32T €8 H3T&ar (Data flow modeling)- feg f3mma &3 AT 39 fAder € wa U™ faw
3T &% FTeT I B M3 THIIAFIS €t Yfafenr I

3. wfedt sta<tua wasfdar (Entity Behaviour modeling)- feT sTer waféar w3 g9 fe
weaT 7 fa 37 § fecae aaet I € mgaH &F yfdfenrm &

4.  wmafefedt sfemmary- Y=t fem@ne Iaatat M3 AH AT |

6.3 fAeH Miaf@ne ©7 ot 3% Jd? (What are the roles of System Analyst?)

fArer wiafene fea foraat 7 7 fea wmfers (study)e™ W&HE (conduct)

gaer I 7 JStfedty w3 Genr & ufgere gder I M3 €€ § YUz J95 B Yfafemr
feaurfas aaer J1 fan AmET & 83 & Yar dder fAneH femfes agaT 3 € & &g 95 &
aH fAdeH Wafene e J1 afufed casd+T enmaT farsn 3 B9 < et fAneH WiaTene
& vy givar 91

fAver Waere feq yH aus %" feradt I 7 MU Jdn% § WU &ad § Yu3
q9& Bt TIITT I
1.  Ag 3 ufos™ w3 yafas an I mifenr & ufag s dasT!
2. oY {9 fAver #Wiafene (fem@na) § a4t u3T fa mifr fam 397 % Jeant| fem set

€7 Hard , GUSaET W3 HfadT &% fer 979 ITBTI ddeT I M3 AHTAT € T8

BITTJ|

3. M &% AEfuz 3 fedor d9s 3 e fAner waTfere §uat 9 »igt 3g°
5% AHSET J M3 AH ™ § 0% J96 979 AgeT J1

4.  fAFeH Wafene MHfmT €7 I% 996 T UAA &% 3I7®H&(Coordinate) ggeT J1 feq
AT € 993 A9 I% 3¢ 351 fAder mafene Hémie § o< 3 ufos™ me 0%

(solutions) €t HIT3T @7 HBTAE JIder J |
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5.  frAver mafere & mH 39 3 UBag & faur Ater J1  fAder wafene (femsna) €t
341 T fed HU3TYIS aH HEAH e © §TH & Y™ 996 &el iraT fRaH3 d3aT J |

6.4 famer f3Sswie 3eie Arela® (SDLC)

fea UAn I 7 fa f€a fAner fem@aa (Analyst) 8 feseanms fArer fammg ags,
2f&ar < =t =afanm #er J1 fAner fs<sune v Gen Tet st & fAner fammg
q3&T, QUITIT Tt Hga3T ydhiT a8 w3 fHE I A w3 9138 ST yar de, 3fdy e
e ITET THGT MEHTT YFTTHB! M3 THBIT YISH aH Jd&6T M3 AF 3 HJ 3<Yds fa 8
fAver & Tygu= We B3 9 yar Jur 9= fAner fs=zude < Aedawqd (BT9T) fAmer
fsmfeass M3 faswug & astfeu & 53t yu's d9er J1 fArmer fsesuie sete Aelas
T (steps) M 39 (Phase) 3 W & gfem™ T fan f&9 ele Aetas e 79 fea 37 ufad

=~ i a = 2
TH € &31d ©f @d3 dder J|

farer fsSmsune fe9 I5 fBY @9 (Phase) € I& # fa fea fArer faSzug =&t
MUS8S Fgdt 75|

1. @H&T (Planning)
2. fem®HE (Analyst)
3. fsafes (Design)
4. &7 Id&T (Implementation)

few 3 fewr=T fea™ (Develop) W3 nféar <t fem € 37 I51

1. yBf&ar- Sa-1 € GO0 HE®™ TS HS, THI J8t I8 BT, 8913 M3 grfee ufag s
FI&ET M3 TIHTTEH MEHT HEBT GHsT eI

2. fem8ua(analysis)- eH-2 #egal MuBlans fe ygag d13 I Saus W3 ot f[I9
Urde a7 § Y3 daer § M3 mutd GuIarsT €t Agast g9 EFeET J

3. fsmfes- sw-3 fega I (desired feature) M3 oMt &7 f5e®, Aadls 3w e,
faran faw, TAR f939, §S 93 M3 THJ eAg= 97d E€HeT J1
feam- Sa-4 fAmer € feam T mrst a3 few g7 f&9 fafmr AT 31
ZHféar- 37-5 AT 97 faue 3 e fen & f€q Aar fedor 3T AteT M3 cAfedr
a3t 7t 71 feg a3 fS< I3t |, 997 (bugs) 79 UST B aET T

BT dd&T :- HIHTST €9 € Mydt ASH 3 Areeemd § 83ues (Production) feg ur
fe'gr aer § M3 Tw3fed (actual) fAineH 98 Uer J1
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fAdeH faSsune Bels Arela® e €9W (Objective of SDLC) :-

1. AT gt T fAareH f3ng gaaT 7 fa GugarsT et @t 3 yar J= w3 Bw &t
Aot aret Barg fe g I<|

2. fea e yEs qder J, feq Tutt fArer fang aos st

3. fE€F Yride HE&rAH < Aedadd fanma aaaT I # fa feg forfes gaer 7 fa ydt freaf feo
AEld® S 39T aH AT |

4.  fravew Brele Areta® SEt ATdtT BTN Uadta & mruatut syt faderdtnt féer

JI
3

THES M3 ITBIaT Hara feu fanfaz aae g5 fa fAmer €t Agast ydt 39t
ufge g g5 »3 8T ydt 397 7% AgHe 75|

6.  HoMHE MuTfaet v feq =% fanma 3T Ater I 7 fa AN-An' 3 fsgew feer J1
IAMISTERG, deas, dife M3 fAreH e fea™ d9& e muges =t feer J|

7. feg Afenfez ageT I fa Gnde fe 3t aret uBféar, FusT caa st ngATd IfemT 31

8. Unde ¥ feq W € 7%-5% Unrde € fand (risk) 79 U3T ZIrSer I w3 79 & TUTs
3 ufaw €7 € o% g9 AgeT|

6.5 37T @8 ITe Iy (Data Flow Digaram):—

31T 8% FTedTd™ (DFD) fe'a fAmer &7 eR3d=+t dd< (documentary) ffg Ag 3

U Fafa AT T IdtaT J1 fAn 397 fa few e ™ ewer T fa feg feg foggardt
J # fa fAreH € Wedsd 3¢ € Y=g, fAfeH € 78 U= o 3 fimeH € gog @ y= v §
fewr@e et =afanm aer 91 feg feq fAamer fe9 37 € y=v § fewfe &t aretas

=~ a
UHaTdt J1
External
Entity

143

Downloaded from https:// www.studiestoday.com



Downloaded from https:// www.studiestoday.com

Iretast €RT 96 fa 37T fan 397 7% fAner 7% [I37< (interact) dgeT J1 37T

g8 FfermarH ATg Mfad™a (enable) feeT I fa wift 2y AATe fa fAmer fa= oy ager
J1 fem &t mr@ey’e &t J, fAmer & &7ar d3&T (implement) W3 Y3 fArer fe9 Fag
Jet gEse, die-8te (modification) 13T =1

FTeT &8 FeMTIrH I79 HY g9t 3 fH® @ geer I

1.  g7Jdt 3¥ (External Entity) :- 794t 39 fAder et fesu’e € 39 3 A3 (source) &7
IIAH&T (represent) dd€ I& | &g fAder 3Ter et U9 AES (destination) < I
99 37T & fAHeH € 794t 37eT Adg & fagr Ater J1 feg »fez & maw ffe §e
TS|

External Entity

2. 37eT Aed (Data Store) :- 37T Ad 37T & fHHSH € "€d Hd < ¥ €HET J
gede =+ dfuGed eeitew At seran| fea Gus %83 (open ended) gaw 37T
AedH € YStfausT gaer I fAn €7 H3®y J fa =7 (g7at) sfemT smer 7 »irgret 37T
EEG]

| | | Data store

3. UAW(Process ):-  UAW J gatit ardtfedtyt g9 €weT 7 fan fee 37 & mies-
U8 dd&T, Aed Ja&T Af d €T, A fa3 99 greT| gnd nuet fg wit afg Aae ot
fa Ui fesue 37 § m@eue 3o f[T'T geseT J1 AIa® UAn €t yStfausT gaer J

fa 3er & FosT i[9 seger JI
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4.  3ereB(Data flow) :- grer @8 Frer @ feq g9t 3 gnd 9T few Aer g
(movement)| W3 3727 € €& (YI9) § eReT J| feu feq uely sets & fam feg smer
Y= F9eT 1 I 8@ o 39 3 feg AElE 3t §€T I (one way data flow)l gTIdT
337 (external entities) Bt 37eT 3feF (dotted) et (--—-) feg feurfenr AT 71

H Data Flow

6.6 A3'=dldd< (Documentation) :-

feg feg yfafenr 3 7 fa 799 g5 (Communication), gefe3t €< , fan <t Aegy
(reference) 7" T7% X € FO&™ {995 d9& BeT A3t ATE! J| TISH'S fAFSH &7
Imt YT (Formal flow) feu@< @&t 593 Qudialh 3dlar 1 eAg=a €t Hee &%
fAveH € 3941 € Y='9 € < (Track) IUST 993 MAS I ATeT I M3 y=at (fAameH)
T AN JI&T T MATST &7 AT (explained) S13T AT AIET I

TASRHIGAS g 3 SIS I IHT ©7 AUHS II&6< d96 f 9 Hee Jaer J1 feg mgat
J fa fomg o3 eng=r fovg 39 3 muse 9 3 7 an fe9 J= =&t I94T
(progress) € MATST 7% U3T B a1 Aa | €193 w3 991 enz=d © &% feg s aret
Aug Aed fa fAmer 87 dust (company) &9 fann o&3 f&9 o adar fAg €7 &
SarfenareT g1 feg 3er & eEiv § e 9 &t Hew J9er 7 A fa fArer e
fesu'e €@ 99 3 =afamm Arer T w3 wigeye fae st At T

farer & Uz d95 3 g dd9d fAner 3t 3gF &8 oW &dt a9 fagr 3F

MIHEACST § TAI=H € AUTE3T 578 37T € YI'J & AHYIT 993 MA'S d<ar| fem

&% fAFeH Tt YT & €9 J9d 31 3T 578 o BT MAS § AT |

TA3'edIddE € I3 (Uses Of Documentaion) :—

1. feg 3aslat »3 di9 3datat GudarsT=' f[&9 fAHeH € AU f<9 yg'<T (effective
communication) € Ag®3 feer J1

2. feg a2 QusazT=t § Sféar €< Bet 9g3 Frgerfed J| I9T THI=H € HEE 578 &<
gusaz=T fArer € Y=Y &% Ay Ffde I 71 75|
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3.  EAI<HigdE QUII3T § 2aus BT (trouble shooting) FIdiwt mifrmr=t § %
95 ST Hee gae! J1 JI9 3Tt QudarsT =t fer 39T €t it § a1a 99 AaeT
J1

4.  feg fegm € ot ff9 & Ho3=yds givar fsg8er J1

5. fegAAgT € Wed® odn § 91 99t 37T 578 Jed® &4t JaeT ¥8fd MSe (audit) T
g4t IHT & T JedS FaeT I

6. TAIIAIFIS HaTd & fea AngT € 3t ersT 3= feg < Hew J9e 75|

U JUS Gl A BT

1.  fraver wdsiim W3 fsarfes fam AHET (organisation) 3° U g B Bt fammg
3T AtET I

2.  fraved fsafes fee Sfnas y==t, fAmer y==t eniar 3f3a Yozt feg ges At
J1

3. fam fmET § nirusT §€F YU3 d95 BT B €1 faarfefsar e av fArer #isfene e
dJI

4. T8 FfemmarH feq fegaardt 9n FTeT € 88 §7d EFeT I

5. CAITAGIS &% fAHeH € 394l € Y='J €7 ¢ JUST 993 WA T JeT I

YT AETS 94—

1 e SEBUH T BTES HEIA® oo % fang Ji3T AteT 31

2 afufed CTa Bt eI fAAEH I T T BT B ..o @ 4y gfiar J1

3 fAver famfes fed fAygs fAmer & ..o gl

4 FETEE FTEHTH ..o, HY g9 3 e a gfewT 31

5 e IS 3 d1F I IHT &7 AUHC T96S dd6 g Hee ader J|
5¢ @30 T8 yas

=

1 fAaver e W3 fgarfes (SAD) S atg= T ?

2. eTeB FfenarH € 4 IaTT € 3 f3Y |

3 frmer fsSmsune rete Aetas € fas ed 957 o™ fog|
4 farey fsafes I st = 7

5

A o T A = I?
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TS €308 yns -

1.  fraver wiasim w3 fsafes &9 MusTe AT aeH W3 3J&1T 979 ER7

2.  FeTeB FfemarH af I fergg feg fay?

3.  fAver wiaTfene e faver f3mmg ags fe9 &t 3% 37

4 e faafes W3 fAney masin feg #iga env?

5 fAreH f3esuie Beie Aretas e of 8w 37

HJl/a83 €H 1

e e faarfes fang aas T aH fAmer waTfeny e &dt|

FeT 88 FTfenTdIH 37T € €% € fg 3adt gu J1

fAver MarsiAn fee A9 3 ufosT gen Gusars™ w3 ER & €er & mgeT J1
THI = HadS ©f fAner masin fe9 83 odt!

frAver f3™a 995 BT QUSRS M3 I9 HET # fAver fawg a9 feg afvs 75 &
Yee & Aga3 &1

wm A W DN -
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us- 7 fe 3t suias udd

Financial Accounting Package

7.1 B As- A'E Ufga=E

Uge AN feg sug o 839 993 8¢ Jde A, A 396 3ur -
fett €t agas Higar sdt ST At Al I AR S SIS € 578 o9
TuUg € u39 feg gg3 feam Ifenr J1 gox sudt »rust feadt &
To@z & vu s, Afag, A, g7 3 & g9 on feon feg e
TUT § ooeT BT BuTg ager J1 8T niuE H fAge sae or °9
x Bug &t 29T J1 89 fAagt ugdhnt 3 v udteer I & fAgh § S
SgoT J BIot o fars3t sg 3 fammer g gt Jifew It am &sJt
fegesaug d oo BT e e e HExR € A 3 g ST a1 s I
Aol I A fuT feg g3 un € 7993 det J A & feas vasx 8A
1 yIst odt &9 AxeT fAr 96 B8R § AT Il A Just aTve! Ut
I AR 9 cug = A9 fogae fase agat 0w IUET HAXS It
&5dt I niAg<e I fer &St @ug ©F AgT U guE st faztat &t

Ag93 HfgEA 15T A€ a1 uet|

7.1.1 It "3 (Book-keeping)
TUg © U39 © fer feam I9s Sz Tz & yifenr § iHst =9
M= A9 BdT &% [SHE ST adt U3 (Book-keeping) €t &= HfgaH It

igTaret (Definitions):

o 09 TTHIET MoHAT, “ FI-437T SUTH B 87 3 [GATS UASH
feT [Bax &1 oxmT J17 (“Book-keeping is the art of recording business dealings in a set
of books - J. R. Batliboi)

T A TIB MoHAT, “FI-ST eurT 3% HIT3 €31 8 e 3 fedl-
YTeH TIT 37 fSHE €1 fopym I 37 o &/ Hedal (&A €1 (& €1 gosT
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3Tz [H& A1 (“Book-keeping is the recording of financial transactions of a business in

a methodical manner so that information on any point in relation to them may be quickly
obtained”- A. J. Favell)

SIEIS MGH'T, “FII-a737 85 S UAsSx" €T ugx 7 €31 8=
..

T € Mol UH ©F BT o ©f &x&T J17 (“Book-keeping is the art of

recording in a book of accounts the monetary aspect of commercial or financial transactions -

Northcot)

7.1.2 ur-fedt (Accountancy)

S fefteaaigdtus I ame ag Jer J < e sdtus ©
IH T must g€t 3 €9 Sur fedt € ggnrs 3Tt I &y fedt gdt
a3 T Bfunit T feregre w3 fonrfunr fagr a Axer 31 o=t
it & fenrfomr fer © »izgas 3T AT T

JigTaret (Definitions):

PIHIIXT T AGSIS S8 i@ AAET € nigHd, “3ur-feal Far &t J,
fam gdl we we €31 8 87 »3 weaer 3 Hegr € gu g
&1t mieT I n3 BIaT & HI STUIS Tl 378 Iailas JFIxX EIaT €
yiet &1 fenrfamm 13T 7E J117 (“Accounting is the art of recording,

classifying and summarizing in a significant manner and in terms of money, transactions and
events, which are, in part, at least, of a financial character, and interpreting the result there
of. ”- American Institute of Certified Public Accountants)

AfHE M3 »TREI6 MEAT, “&u-feal »iH 3T 3 €37 Fow &%

SUTH BE T M3 wWTEET F I IS M3 TIIXIS XI5 €T

fefamrs T w3 &g Bas’ Szes »3 weaer € HJIse UIs AT
[5021T XT3, [CHSHE m3 fenfenmm JIs w3 BJaT femxsin & [AgT 3

CHS JI& T f6ge FET6E I I6 & Foar & € &BT J1” (“Accounting is
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the art of recording and classifying business transactions and events, primarily of a financial
character and the art of making significant summaries, analysis and interpretations of those
transactions and events and communicating the results to persons who must make decisions or
form judgements. ”- Smith and Ashburne.

Mg WS MBEBT @ MigAT, “MH 39 3 I9X @UgX nieg feg fex
Br-feql yES1 gel I ET euT 3% AFa3 FIaT 3 Hed™ € gu f€g

fEasT XTasT, HIU XTAT, [CASHS XTAT M3 AexTdl oF of EFx 7as

Tl (““Nearly every business enterprise has a accounting system. It is a means of collecting,

summarizing, analyzing and reporting in monetary terms, information about business.” -

R.N.Anthony

Busas Uigmet © miag I fagr A AxeT I &ur fedt sufax S o
$ fedt yg=x <1 o5 fouz e fefommsx €1 I »i= feast 8-t e
eSS I96 M3 53 yUS IJ6 ©f & J|

7.2 Sur-fedt @ A (Functions of Accounting)

Sur feat © foHs aH fogugs A3 are I+

1. @F-a=" @ YT (Recording of transactions) : &ur fett =7 yy XM
et s =8 S ©F T gHE O JU feg &y 9o 3 TI6T
Sz ©c fagh = vegr © guU fe 9 voiae o JI3T 7 Axer J<,
TIA &Jt A3 A

2. Wit e SIdfiags  (Classification of data): SHoHaT A
ATTExX gdt feg oor I3 & @ ©f Quuas Her »iuls
TIINXIS 3T AT T =3 3T II71 (Ledger) feg vfsnrfent aer
I |

3. AU XIoT (Summarising): u3T gdt € sxfent o fex gat
3org 35T AT I fARS 3HUT (Trial Balance) faar Afer J1

4. ferBAas M3 fenifur (Analysis and interpretation): I®ucs 3

Tug &t AfEST Ace BT fUdx U3, ®F JHE U3 3 nif sy
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fga =g iz 7Jer J1 far o cug ©f Afast e fersAas

BT A Axer I fAaoz fa sfeu feo das<r g=z feo

HETIrg Je Io|

7.3 Bdixs € 8H (Objectives of Accounting):

mMOfed TdT1 feg Suias ferr g9 fex sug st fex Ha3suds

fermr gz famrr 31 Sdixs I9 FaHHﬁmxﬁW@Wﬁgﬁ
et nifaH gfHa fagr fogar I Suixe fAge =ug T It adt gfx

g9 3 A9 fenaZSt © fost & yg3t st Afguet J1 &uids R,

foReg, 8K, AgX'T, XIHTTL, ardxX nife Ffant © a3t =2t g af
nfA T gu feg »uTr tdes UBer J1I Sude © HJIseuds 8o
forHs nioAT I6:

1.

Jz-o=t v fedl ygex v ( Systematic recording of
transactions) : e feg 5t m3™ @& Sz o & HI O gU
feg our o995 3 I for feg g9 f£x &= o o u fouHt
Mg 13T AeT JI AF 3 ufgst I9 fex & & § Sadt &ur
Y&t © €937 IIA IaeTHOT fEuag™ A Agfex gdtet © fEeg=
xI6 3 g a3 feg uafswrfenr aer 31 far 2@ faomd ©F
IS T AUT IHUS B3ug 96 3 gmie 7 ufast g fenm arer
J1 fersgt =ug & o3t g3 T usT sfenr 77 AxkeT J|
TUTX HF'F I6T ©F U3T FEET ( To calculate the Profit or loss of
business) : J9 ffx sug fe g AS € »iz fog »ifsH u3 Burg
=3 A I6 fAar feg ufast 83uws u3r, feg sugx U™ i3
feg &g gt a3 gaterr Aaer I fegst 3 gHeg 83u™s
A3, AXS &F'F dF T6I W3 B U FF aF I ©F U3T SHIrfem™ a7
AxeT J|
JUIS 3 @UT  foHs arst & u3T BdeT J:

®]) fex forgs AN © feg f&ar 9T i A7 H'S gdifentt|
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m)  BF formogs M feg 83uws x9s I fXor ugg 37
famm

() 8r A feg o s o 83uws 3T wis BAer
B3uTs s At T2

(F) 8 A feg s s 2fonr famm e Ao ugg
=, Ao U gfgntm Jfen I »i3 @Uugd A &S

fXaT Jfem

(@) FF ToT U3 fog »if AT ugg mi3 virHTs fodr & niAs
B AT T'aT TF UST Bfen™ A7 AKX J|

(X) FUIS 3° AJT BT ™% @UTH UId wi= niTHEs ©F U3’
ST mMTA™s T

sugx f =t Aafa=t (Business financial position): &dixs enrar

f3nrg 3T AT I feg oo AusSheit »i3 Scodntt T f&x

feegs dor J1 O3 © A9 UH Sug It At AusSihit »is

UE UH AIht TEedmt »i Jdft § feufenr &t 31 feg

feegz =ug <t fe=t Afgst © a9 ATt Aexdr © AxeT J|

Sue feg fer feegs 3° fors aexdt fHs Axet I

®) U9 IS fasT uAr I »i3 s UAT 3 X feg fumm I

() =ug 3 fxox fxagz fenx3t 3 fas U &= I 8 ©
o9 faaz faaz I51

(o) ug & faos faoz fenast § faor uAr &= I GFe
Szog fxaz faaz Is|

() U nif3H Acx fXaT fupam I

() U Thoit AUt fag3ntt faag3ht g5 »i3 8ot v 'S
T Tl

(X) TUg & fxax faaxs nieg 3 fXor aar fonem Jfenr I

) TUT @ HBX & AS © o996 [KaT niigde di3T ni3 HBA
< Uyt ge ot Ifa argt AF I aret I

(@n SUT T A 7 'S fQor I feg Ad areT e usT fgo
3 I BU IS ATS 5B JTen™ A7 AT J|
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4. J9_wYo=t (Other Informations): =ug = HAdg FuE
THMT I UISt § 2 FFs I Agoret YU Jemt I6 fAg
feg sug @ HBX, I3 e 3Toddcdd, e, ocod,
IIHTI, AGXIT IIHTI A wiftxdt, 8 § J94 T @ S
s fam € S3ET g0 o FPo=t 3 YUs JJ Ak IG |

5. fg& fga 99 88" (Other different Objectives): =us feg
Jg g9 3 A9 Bert € yIst suixe % det J frst feg &3
HI 32UIS XH foHs I5:

(8) TuUg T HAHS Fa T 7|

() IEot AGIST § UIT IIoT

() I fogugs g6 Bt ATXIt HIS ™ XI&T

(F) @UTX &9 feg Ifg et niE ™ & €9 IJoT|

(T) =ug © feg II eIt § Iae feu Agfex|

@) eug feg fxa3t Aur o7 1 sgefed d w3 faazdt er
XA BT EX |

() 8%z fAT »=3 oif T uadfent™ § weBe fe g AgTex|

@) »ATIE TBt § W8T BT GUI™S FIoT

() f3ng SISt @3N & @9 'S foguads &JaT|

(R) MMBE =% AN BTt GAso< 30 I BTt ATST Jer J|

7.4 2Bt

g 39 oo 23t O SatunsT fereht ferms= x9s fos yst fos
OOl A7 IJt TJITug © u39 feg fora fas guz ot feg g3 It

s fedt I fer €t @93° agx @ug © 39 feg S3Th fauget

fagr far 29t € yus SISt A7 AE it I5 |

7.4.1 2T it fearsT=T ;

26")I H'GC%‘VHH ?7)7:!"' 1_-|7~:|T W =7 IZi(J S| d:ﬁ Uq' 65)-[ H'GC%‘YHH U|
oo feprs=T foHs J6:
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1. =93 fog vimAae: foa Areceng feg 327 g3t MITaat % S

=T 7 ASeT J1 oA ©f @93 96 91 fan famaq ©f a8t fexs
&I n<T
2. 393 forse: for Agcenia € @93 XIX A< <t a1 fadae

fanrg Igat Jd< 3T 393 fex U39 oo ©9 & faramse Burg

=T 77 AT I

3. IISTHT AHIET: fEA Aecend &% M&dT mi&sdl ITA feg
famse Bg 3 7 AGT Is|

4. fereTAGdT: 2SAGcang 93 feAeAGar I fer €t AafesT

&% 393 AdT 9r®e yuz &3 A7 Ake J6 | Add 32T Adt BT
&% SiF J13T d° 3T fer 3 yIs ferem a3 A7 AxeT J

5. 2T Aafumm: fera Agcanid ©f 293 &% 3¢ niuded H &I

IJ 3T U I3 F X 3T S A IT TH TuT A =93 JIs 3

JX AT J, I ST AIfHS I AT J|

6. 35 f3s USHT feg 3T T ITTH: AT <I3° XI3T MUET
Fust © 3¢ § far 39 JUsSt &% 3Ae gder J 3T feg Aecena

FUST ST TFT JUSHT § TS IJo ©f BT Yers IIeT J|

7. I o JIfex feAsAs: oA Aeceng ©f AJTE3T 7% A XJ

=~ (g fal O fal N (o) =N o
ST MUdSd MATSMT &7 dMTedX IKHSHSE AJd6T Jd'de Jd 3T @_E]

0~ 0 0~ fal N =N
XIS €7 MK IRASHE Y3 JJ AXCT J |

8. filz yfeB: =t & 3o A fauges v fuc 8= 3 ufgst fea
Aecend fic yfeQ & afear & fEer I fAret AgfesT o

=I3x9 fouge wife fye 95 3 ufost B8R ¢ fie yfe8 It

154

Downloaded from https:// www.studiestoday.com



Downloaded from https:// www.studiestoday.com

IX &I AGeT J 7 &9 fan fam € 3a<tst € 83 Hfoar &9 3t

89 ITTIHT %9 A= I

9. fEegde Idt 5727 § Sfrmr w3 FaAEle 3 MUBE AT T

AET JI

7.4.2 SH T FF:

Ufgst Aa 8t @1 mixBTEar Argcenid &dt <gf3wim Afer At 37
faror § 93 AY fen&@3t »ix UAr nix8fcar set sarfenr AT
AT | feg fAge »BTar 327 § Hocos 9o I3 odt At &9 2o
cetst § fex fegmar 3¢ en fegar €9 fase a9e v frAm <9
ST AHT iz UH ©F Iag9a<t Jdot AT | ug 231 &t =93 5% fege
3* gfon famrr

1. 32T fE€x gt 3 el gf 2ITHeT X9o" Id3 MTAS J famrm |

2. Howis midBfear €9 miaxBfear 3 g3 AHf sder At 28t o5
feg a1 gg3 A%<t J AeT J|

—

3. foors e S AaHsSTg I &3 of fas a3t I It 7ot i

fa@fx fex girars § g3 8 3 foxgs &3 Aer At | ug

S €9 ferm 3 afonr famr faBfx fAge = 8ag »iedt uGe

&% BIt HIXHG MUE mid »iBdT »iddl ' 3 faxrgs J Al
2\
T

4. faudgerm gg A =g gfde g6 oA &% HorH<T &%

ST & nOg I SAS A%l &3 77 A J6 |
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5. 2% ¥ UGdT &% 9J3 A9 fenia3ntt ©F &3 adt | fAge fEx

ferma3t ArgT Sy Ay I AT I |

6. TH TH FATSX Tt I gEmt fameon Ayt f&g s 29

EN

AJTEST 5% oI HST 13T & AT J |

7. ST St oIHIHG faH AR S SgTI& St 77 Akt I |

8. ¥ T WHd $ <d 2 nffuxg € & fogufas aH ag=e A7
A J6 |

9. BT T AIFS BT frmer g I %3 5d1 faBfx fEx quat &

JagT A o fgxgs fex AT, g fgaxgas agor It ar

2
HJACT d|

10. fex g 3 gfg & It €9 2 3IgT € U3 g A ASe IS |
7.4.3 2Bt Ehoit Hh=T:

1. 7 ferms=t 2H €9 g6 Agdt odt fa 8 A9 3397 © farss

st sExdr JIT fer st far g7 S8 Argeena g9 <9

Bumag I 8F 39T iUz faren €9 ytidr agsT Uer J|

2. MiXQT SH IIT 8T BE SH AecnT = XuBeT

0~ fal

gJlesT uy=4dr | fam €9 3=t Oar agg J<=49r |

3. XA gI=Er w8 T 39 Ifder I fAA xds A9 37

g I AXeT J |

4. AT AT U &7 F&dT 72 3T 32T ugT g I AT ST

UUs &d I AT |
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5. I viusT i3 STERH 391 f8cga T ©f 3 Ot JI

7.5 2B T YGiaT:
St Hg I BT SAHCY GuUT gT SHF © Elx® I 598

S II | A9 <H MEITS adT I 3T 3AT feng Het IfuBea

o HoT &% = 9% AT J |

Het IfuBeg > I fErcans 8889 > &
S eSS Jo fedme nigag foutst 2@<2ar |

2 St feuet 2z =t ufadt Aadts:

M Tally 9 o | |
{c) Tally Solutions FZ-LLC, 1988-2008 r TallyGold - Multi-User | F1: Select Cmp
http:iwwwe.tallysolutions.com ﬂ 51 No. : 56804596

L: Language K: Keyboard H: Help
Gateway of Tall Ctrl + M k3
Current Period Current Date
List of Selected Companies

Mame of Company Date of Last Entry
Create Company
Backup
Restore
Quit

Calculator ODBC Server Ctrl + N
Downloaded from-https:/[ www.studiestodg{eom
Company MJ. r" '4- Release&.l! éngﬂis‘] " \ﬁon?ﬁ?e’b,‘m MQ:]'.Q
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AXSG-2
7.6 H €9 5t usSt s=Be
e IAT ufgdt =9 2Ft § I8 J 3t “fAdxae Just” & wrurs fax
fae xaar | fem 2t Az 3 ufos far ust / faren et 3AT o3 g8
gge I 8T Iust ITITe X9 | »ifdagr XI5 St “Create Company” 3 fSBX
I fAm 5% 303 IJiee st TH 8 »idr feue Axdls-3 »igHg aad
gt fAr fEg »idr &g niegAg »iust JUST @ Aexdl 39 3 wis feg

“Accept” X |

fin] Tally 9 (e
{c} Tally Solutions FZ-LLC, 1988-2008 r TallyGold - Multi-User
http:iwww.tallysolutions.com ﬁ 5l No. : 56804596

K: Keyboard H: Help
Company Creation Ctrl + M kS
Directory - ChtallyADATA
Name . Charchit Bansal & Co.
malling Name : Charcnit Bansal & Co.
Statutory compliance for : India
State : Punjab
FIN Code 148028
Telephone Mo. : D1676-220428
E-Mall : bansalcharchitgamal.com
currency symbol I Rs.
Malrtain : ACcounts with Inventory

FInanclal Yearfrom [ 1-4-2009
Books beginningfrom - 1-4-2009

Tallywaur Passwaord (7 any) :
(YARNING: forgetting your TallyVault password wil render your data unusasiel}
Use Secunty Control - Yes
MName of Administrator - Charchit
Fassword :
Use Tally Audit Feamres? No

Repeat © =

Base Currency Information

Base Currency Symbol : Rsa.
Formal Name . Indian Rupees
Mumber of Decimal Places - 2 Show Amounts in Millions 2 No
Is Symbol SUFFIXED to Amounts? No Put a SPACE between Amount and Symbol? Yes
Symbol for Decimal Portion  : paise Decimal Places for Printing Amounts in Words : IR
Calculator ODBC Server Ctrl + N
1 =
Company Info. --» Company Creation 9 - Release 2.14 (English) Mon, 25 Fehb, 2013 20:53:48

AXIIS-3
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Axds-3 feg feus Sisst a9 asxdat
(&<t uat fEg =93 A @ IIH3)

Path of Data for Company
creation

Directory : Ciktally\DATA J Name of Company

Name - Charchit Banaal & Co. —

Malling Name : Charcnit Bansal & Co. —— Name of Which you want to print on mailing letters.
Statuton compliance for © India ]

State . Punjab

PN Code . 148028

Telephane Mo. . D1676-220428

E-Mall . bansalcharchit@gmall.com

Currency Symeoaol . RS.

Malrtaln . Accounts with Inventory

Financlal Yearfrom  © 1-4-2009
Books Deginningfrom . 1-4-2009

] There are two options for security “Yes” or “No” If we choose Yes then the
TallyVaLt PAEsWard (7any) - next fe  atures will displays like Name of Adm....., Password etc.
{YFARNING: forgedtin your Tafly\Vauit password Wil iender your dats

Use Secunty Contral © Yes L
MName of Administater . Charchit

Paseword 0 e wj This option for Tally Audit where some audit features will enable in Tally.

Use Tally Audt FEEIIJ.I[&S'P o

AXSt6-4

Directory (3fedaedl): feg afuza = 8 S¥39 I (UF ud
Hﬂg)fﬁﬁwﬁﬁr&w&wﬂwmﬁzﬂ?ﬁﬂ%ﬁaﬂwﬁ

FSU%HBB@?@HWE@FHTHo(@UlHG%(W T faBfx
ST AcT Jd& »T! 3™ @®s9 ufast It TALLY.INI oets feg

HC A3 g__th' U I

Name (@H): fer dos fog gt 7e @t dudt e oo sfanr
Her J faret fagtgt fBnmg ggs™ I5 |

Mailing Name and Address (Af&dr 3H WS WMSIA) :cust oo
3 feser 2H 1S o1 39z € Agss et 31 fen €9 Just =
H 3t nUE iy wr \wer I fARg gefenr € A Axer I |
Statutory compliance for (ASYIt UBTIH @9): fea forc
e oH T go= 96T J | Accad! yeus »3 I9Int fdg wrfe 8r
OH © NigHAd &dT d=dl | B8TgdE St INDIA fAdde XIs 7% IIHI

fSa ga=3t gue feg J=ar |
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State (AS<T): f&a g2 I @H € nigHT U3 € forae yus Jdit

frr S8 8a= U3 g | fere o® BF U= S8 & 2 nirfe
2Tt feg Asds iz AEar |

PIN Code (fus 38) uat & Afggd = fus 38 3IaT I |

Currency (XIHY) : xart f9s €9 f9g I 7 fx 23t <5 =af=zmr 7z

J | frgs O 95t o feuet €<ar fAe” fa 7 INDIA 395 o5
feg niruE vy Rs. feutet 2<ar |

Maintain (Ra2®): form Stos & =93 fimrs o5 Igat grdtet I |
fer f<g © nmurs a9 Tt T “ Accounts only” and “Accounts with
Inventory”

Axd SHAI I AKX &% A9U3 82 adb Juar grge 3T Accounts

only fA®XE XI | »idg »idl X 3 UL fX AT nicdt xgat I 37

EN

ferd sefentt A7 AxXET I »i= €Al »uEs “Accounts-with-Inventory”

ISt 7 AT T |

Financial Year From (€13 ™ g @9H): st o7 &g v
12 HI16 BET A 15 Hdle &Lt 2 gae de J6 | »=3 fgg Aadt 01
Aoedt 3° 31 TRIg Tt 7 01-»US 3 31-H99 3X J AT J1 f&u
7 < St fedt aedtt 2%t »iuE niu fem 3T nigt ffx s

et TAn™ A Haar | 8Trade & Axg 3AT 01-04-2009 3941 3T
TS TS A 01-04-2009 3° 31-03-2010 J=<4dr | AXI IJHAT
01-01-2009 F9dT 3T SIS HM® A 31-12-2009 SX J=dT |

Books Beginning From (F&H ): 2% <5 feg »Wifenr aer I fx 30t

A% © 59 3 It & fa3= 5y 9o gde J fen st 8T nmuE nimy
fer fSo s © g9 =@t 39 four fEdt I | U9 Axg IHET IS Hins

As © 59 @t fHsSt 3 fazat sdt 59 &9 IJ 37 feng ses Age J |

Use Tally Security (G 2&1 fARXBTIET ): STt AS niust ust § Adfum=

mém%ﬁaf&nﬁmmgmma@m
mmmwyﬁmaﬁwﬁmﬁewwwml
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7.7 fAaBaZt:
2Ht feg g e © AxBadt 3= =93 AT Jo f&xX “OWNER”
m= gAT “DATA ENTRY”. OWNER & &t it Adheit  mfeur=t yaian

xI6 T nifoxg Jv I fAee 23T vifse »i3 Ust niseHds © | 1 fx
frge msfHforceg €8 It =93 A7 Axe Jo| 3T »icdt s Ag J9

fFAaGact B= s=8E U'w Jo | fAst § a8 & Jar »idr feftmr I |

o<t TABIZT Be® I Q=T (Create a New
Security Level)

AT 2% S5 Security B3T% €% AXT IF 03 @AJ o Data Entry A
OWNER 2 39 3 niftarg & Ao of | feo wad s=@z st Jo fou
AU I& |

Gateway of Tally - select Alt+F3: Cmp Info. >
Security Control - Types of Security

Security Levels for Company

Name: Charchit Bansal & Co.

List of Security Levels

Data Enta
(

AXIts-1
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ferm nadis-1 <9 fige X &= Data Entry awd »<dr o< <% I5GE
S IIAT § fere Jot X MM w3 o= BB BT of T II A= Manager
fers" gamic fer 3= ST gofest Ac 396 &t nicd o6 |

Security Levels Charchit Bansal & Co.
Mame of Security Level  : Manager Security List
Use Basic Facilities of [N
Data Ent
Days allowed for Back Dated vouchers © 0 owner
Cut-off date for Back Dated vouchers
Disallow the following Facilities Allow the following Facilities
{others will be allowed] {to re-enable disallowed facilities)
AXIS-2

B3t 9 I AT

Name of security level: feg 8g &t I A IHAT wicg Ta8z I ufgst
gfantt I A= Manager.

Use Basic Facilities of: &t I7€ fse®<e OWNER feua@<t I 3T ferg
Data Entry f€9 g% Aae J | dx9d uUsT fEg d9 frxBact ==
J=ar 3t 8g <t fAxBact forac ST sag »Baar | 7 & o< 3=

gEten™ Tear 89 niarst @ gt f&a sag niedr |

Days allowed for Backdated vouchers
feg B feat &t farest A ot gag fuss® <8agt a9 Aexdgl Yyus
Z9ar| 7xg ferm feg 0 sfonr A=< 37 8T gag fussT It ©8I9 dt =

AXAT I »3 Axg 7 Sfan™ A< 3T gag A3 fes fug @899 39 Axar |

Cut-off date for Backdated vouchers.

fer €9 Gu W=t st AFFt T ARz ufost © @B YU gag o 3F

2

g5 AXeT J oF I g€ Axer J | feg Days allowed for Backdated
vouchers = »&ar feuzsgzs I | fA= AT fam A & 23 oife &t
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fgegs 39 da J 3T IAT &dF gddr fad 8A i3t Ix & 3o feg ot

gooe e 8 AN g niurs gg3 Quadtt I |

Disallow the following facilities/Allow the following facilities

feg Aadls-2 »i= AxSls-3 § € gar feg Sfswr Ifenr I | »i= g9 g1
fSg © I+ g5 ¥8 J9 89 »urs Js fAgh § €93€ 3 @Fd § I J
m= Ad UH 8T niurs mBadtntt fAgt &t gag ¢ nifuag € Jo | AT
XIAT Access Right 13 3 UJgdr 8A AN »idRA oetu <t fore sag
ni2ditl foAc &9 nmums fA%ac X9 fA=” Full Access, Alter, Create, Display

nfel »=3 g0 JFoH feg 89 39 fAr I &t nifuag S I A=

Balance Sheet, Account Master »iTfe|

Security Levels

Mame of Security Level

Use Basic Facilities of

Days allowed for Back Hatadas ;
Cut-off date for Back DRSS "t £CCES

Disallow the
jothers

Full Access .

Full Access i

Full Access Display/Print
e F il Access

Full Access
Full Access i

: Manager

. Owner

I End of List
Alter

Create
Createfalter
Display

Print

Charchit Bansal & Co.

Allow the following Facilities
{to re-enable disallowed facilties)

AXIte - 3

f&m »muAs § »iAA J96 3 IaE BEL, AF 3 “Type of Access” fore f€9°
Ufgst niAA oeta g | B8R 3 gmie foude fAdae &9 fAar &St niAr
Jazr J1 ferng 8 3x TI98 AT 3X 2 = fgude ST »iAA IFET

JI 72 IAT »iAA TE gee J 3t BT Tt It foude § iR odt
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AT AT AT | Qeragdz &St IHT Full Access for Balance Sheet &< J, 3T

Tag 88 A Hic 3 far & 39T 4 sdt I AT
fem 3gf, Allow the following Facilities € Jot €T fauge fAdac 1=t
Aemt g6 fagh &8t gug § »ifux €3 A g | fAae AT fer <o

Full Access for Balance Sheet fH®&c &Ie J 3 grg § &H Hic BTt UJ

fa) -~
"axX™g J&dr |

7.8 Ht €9 i@ tar

fues ust &9 »irt ufger & far 397 USt gt At I ws R
JT THM fufox Jsifedint § fae” foags &9 I 8T uzfar |

et & Tufox g=Sifedt faag gue €9 nifemm & Axer I Br<t
FOfEs IIT 3 IE Jicen e 3t o9 »i@er I g it fegt
SuTax gsifetint § foxgs 96 & Hgn™S IIe T |

mH 39 3 ufgst 2IHEHG ©F AJes nicdt UTgt At I »i= BAg Imie
<o afzur 9 drc 3T A I | W35y fx ufgst Journal »izdt gt
J f&9 LEDGER =€t AfEt J | ug &t €9 ufast a3 gee A% I
nz g €9 o839 niedt uet Aet I f@8fx drfdar = aH &t
MUE »d IIet I | IH-9 @9 ux g8 BT dice-ne-2ut feg
MR flar fEoe 3 Afsx =T AeT I |

Gateway of Tally -> Accounting Info:
st BIT-fes g6 3 gmie ni8Taar fese Az 37 ufasT aeH I faBfx

AT Miedt S It UAe &9 Ade J7 dag Aot U3t gfeT godr |
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Gatewav of Tallv . Gateway of Tally ...
Accounts Info. ...
Accounts Info.
Single Ledger

Groups M Create

LECIQEFS/ Display

Alter
STatLJtDI"'_-f‘ Info. Multiple Ledgers
Voucher TYDES CReate

Display
QUIt AlTer

Quit

AXIt5-1 AXItS-2

MIXQFEar Eoe AXIIs feg »BIT »iBIT HAST Jde I& |

f€at HAegt f€9 CREATE, DISPLAY »i= ALTER »ruHst et Ia A=
fx Buses Aadis-2 &g foutent famim I Single Ledger »imums €7 A

Useful Jet I A »®dT WSBdT JIGU FHET »fSHdT BT U3 g8 J& M3

Multiple Legers 8/ ™ Useful J<t I #< ffx adu &eF =t LEDGER
gt g | fer &% AN ©f 993 J993 J<t J|
fex o 3ug s=8z :

Account info > Ledger - Create  (This will show us the following screen)

Charchit Bansal & Co. Ctri+ M ES
Total Op. Bal. List of Groups

T ... 5 more

Cash-in-hand

Current Assets

Current Liabilities

Deposits (Asset)

Direct Expenses

Direct Incomes

PRI Duties & Taxes
ailing Details Expenses (Direct)
Under : Name ~ Amrit Lal & Co. Expenses (Indirec)
Fixed Assets

Maintain balances bill-by-bill ? Yes i=as : Income (Direct)

Default Credit Period - Income (Indirect)
Inventory values are affected ? No Indirect Expenses
State - Indirect Incomes
PIN Code E Investments.
Tax Information Loans & Advances (Asset)
PAN /1T Mo : Loans (Liability)
Sales Tax No. 2 Misc Expenses (ASSET)
Provisions
Purchase Accounts
Reserves & Surplus
Retained Earnings
Sales Accounts
Secured Loans
Stock-in-hand

Sundry Creditors

Suspense A/t

Ledger Creation
Name - Amrit Lal & Co.
(alias)

Opening Balance ( on 1-Apr-2009) : 1 more
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AXI5-3

fer Aagts-3 €9 ace AT €& J=3 € Al HY6T €99 151 Ael T 1

fre f& a3 = &t a3 1 faaH, a3 e ggnst sxfent oife |

7.9 *@99 w'edt (VOUCHER ENTRY)
Tug fEg JdT =3t I = Transaction TETT wicdt »itls foags A3t

7ot I | ug feg 8 It I AxeT I A9 Transaction &™% ASUOS U= §&7

T I |

=899 wicdt &t Gateway Of Tally > Accounting Vouchers 3 o &I |
" Gateway of Tally Aatdts 3 V' A &9 |

Jot €31 AXTts-5 WioA™T oagd =il |

| Tally 9 = )
(c) Tally Solutions FZ-LLC, 1988-2008 TallyGold - Multi-User
FA1: Invertary Buton:
http:iiwww.tall lutions. Sl No.:
p: fysolutions.com F2: Date
P: Print E: Export I E-Mail 0: Upload K: Keyboard H: Help
A e e X
Mo 1 1-Apr-2009
Wednesday | F4: Contra
Particulars Debit Credit
F6: Receipt
Dr Amrit Lal & Co. 10,000.00
Cur Bal : 10,000.00 Dr F7: Joumal
Cr Cash {10,000.00 )
Cur Bal - 51,694.08 Dr b gl
F9: Purchase
Narration: 10,000.00 10,000.00
1: Post-Dated
Calculator ODBC Server Cirl + N
F11: Features
1 » F12: Configure
Gateway of Tally --> Accounting Voucher Creation 9 - Release 2.14 (English) Mon, 11 Mar, 2013 19:33:40

AXIt6-5
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D N

JI Transaction BFET faAH nigAT faxas AI=ST At T | BT 3 iS4l

MIHIT It it Transactions & fIxTs IIs &St 16 IFT € TCII Yo

3 AT Io| fAgt § Pre-defined Voucher fxar Afer I g9 =899 sese
SE STHG At Barert et I fAgt ©F AgsT 28t feg An I8 fhs

el o MU\
|

JaNiE=N
HJITT Jd TZ24T

J

Xz T89d fem yxg I |

1. Payment F5
2. Receipt F6
3. Journal F7
4. Sale F8
5. Purchase F9
6. Contra F4
7. Stock Journal Alt + F7
8. Debit Note Ctlr + F9
9. Credit Note Ctrl + F8

Payment Voucher: feg €899 AT 377 € a3 ¢ 998 IIs

BET I3 AT I | A < IS IIBS A= AT I IJ QT s

Je @t Ix IJt BreT foags fern e8ag »iils Jftmm AT J |
8¥gd= & Cash / Cheque paid to Amrit Lal & Co.

Dr Amrit Lal & Co.
Cr Cash / Bank A/c

Receipt Voucher: feg =@gg AT 37T € yusht § faags aIs
et = gfznr AT I | 7 < I8 yust It I 3T 8T sxw Je A
Ix It Brer foags fer = 89g nitte Jftmr AT J |

Cash / Cheque Receive from Charchit Bansal
Cr.  Charchit Bansal
Dr.  Cash/ Bank Account

Journal Voucher: fea =@ag f&g »ifadt Transactions faaras sti=stert
At Jo fagt €9 8 A am FfHs sdt Jder | Berags sEt

Salary Credit in Partner’s Capital Account
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Dr. Partner's Salary Alc
Cr. Partner’s Capital A/c

Sales Voucher: H®H &% HIU3 A Transactions fer @89g <9

fxgs St At I Ifest Transactions & € I o5 [9xX9s

=T AT AT I
1. As Voucher

2. As Invoice.
Purchase Voucher: =dlte &'&% HEUI AN Transactions ferm =8ag feg

foags =t AT g6 | AsE ©F 39T feot Transactions § € €ar &%
foargs 13T A7 AseT I
1. As Voucher

2. As Invoice.

7.10 St fEg oo faugaen:

7.10.1 BALANCE SHEET 8&H Hi
S¥H Hiz I9 I3 FEST 1 THH Hic onI™ AS © nizs g farsn 9
& axfen I & g I & ST I ydt Aexdt fex It org g et A
AT T

Hons U3 S8 o8los AccHer f3ng &9 &t 993 fHass
IIot Tt T | ug ZF o otes ASTHCH J9 cInaHs 3 ST

fanrg Je oo fAr 9 AR »i3 OF < 993 993 J<t 9 |
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2Pt fEg 887\ o ©uE &St Gateway of Tally 3° Balance Sheet 3 wizg
=SH
Balance Sheet Charchit Bansal & Co. Ctrl+ M E4
Charchit Bansal & Co. Charchit Bansal & Co.
Liabilities as at 1-Apr-2009 Assets as at 1-Apr-2008
Capital Account Ny el Ml Fixed Assets 48,700.00
Loans {Liability) 2,52, 705.00 | Current Assets 68,700.08
Current Liabilities 540,857.73 |Diff. in Opening Balances 16,38,124.92
Suspense Alc
Profit & Loss Aic
Opening Balance
Current Period
Total 17,55,525.00| Total 17,55,525.00
AXIts-1

BuUda3z AXTtG-1 MigAT & H Hic adg »iedil |

UGt AcTEts feg 887 Hic ouE ST F12 ol OF &9 A Axdts-1 €
F12: Configuration 3 XS =91 fer &% Jof fouae AXIIS-2

MiogHA™T  Configuration I'XH &HJd »T<dl" |

AH J"

Configuration

Show Vertical Balance Sheet

Show Percentages
Show Working Capital figures

? Liabilities | Assets

- Name Only
. Default

Method of showing Balance Sheet

Appearance of Names
Scale Factor for Values

AXIIS-2
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AXIIa-2 <9 Show Vertical Balance Sheet St®s ©F HHZ Yes AHE &9

fere &% feae Jot Show Working Capital figures 13 €9 <t Yes A

I |

7.10.2 Profit & L0oss

Alc

F'F TB U I9 T JEI6T 1 FF I U3 I @ug © AT »iz

fAT agfant® 3° gmie AJT Ha'e™ A 3™ U3T I3T AT AKX J |

FF BT 3T 2 BT €9 IIHX Transaction 3 Imie Sftm™ AT AxeT J|
M=z BY T U3 & feg fBx gt 3 It feast foe g | ug 28 S99 59

TaT U3 3 UJaE ST

\ﬁn
=

Gateway of Tally > Profit & Loss Alc 3 @f&x 9 AT Gateway of Tally f€5° P!

(c) Tally Solutions FZ-LLC, 1988-2008

http:hwww.tallysolutions.com

Profit & Loss Alc

Charchit Bansal & Co.

Charchit Bansal & Co.

Charchit Bansal & Co.

03
g8
2k

:
:

-3

Particulars 1-Apr-2012 to 9-Mar-2013 Particulars 1-Apr-2012 to 9-Mar-2013
Opening Stock JoaEsEYLE ) Sales Accounts 26,36,00125.47
Purchase Accounts 16,4744 T08.92 | Closing Stock 60,21,554.42
Direct Expenses 6,36,271.27
Gross Profit clo 8,79,07,370.70

26,06,21 679.89 26,06,21 670.89
Indirect Expenses 2,27,50,053.58| Gross Profit bvf 8,79,07,370.70
Nett Profit 651,56, 41717
Total 8,79,07,370.70| Total 8,79,07,370.70 |

L WERIRAY

'z

Tag | fAr o fEg Axdte-3 »iogAg & ITot U3t ST us AN

fogrst o2arm|

E?

A €9 ugg »i=3 YyruSht mi&Bdr mi&dT UH »UE Jigd migAag feurst

It | AT FF It 3T Ufgst @9 foust féer I 37 fAage agu
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It g BT Jo farm &t ggu &t 32 dus &St 81 agu 3 afsx
I 3t GH U € AT U3 »=3 BJsT © aXT ord m8Edr |
AY a3t § »9 ol U3 g oo sgt (feast & f52s Tuzs &2
&5 gt ux = fe@ sefeorr Aer I | e gese &St Alt+ Fleag
frr o ferer @ ST A<ar »i3 A9 Jgut © Jof Axdie-4 <19

feue nigAag @9 20 U3 <t 599 »m8=dr |

Ctrl + M S

Profit & Loss Alc

Charchit Bansal & Co.

Charchit Bansal & Co. Charchit Bansal & Co.
Particulars 1-Apr-2012 to 9-Mar-2013 Particulars 1-Apr-2012 to 9-Mar-2013

Sales Accounts 26,36,00,125.47
Bardana (Bags) At Bardana Bag's 6,12.400.00
Bardana Kafta At Bardana Kalte At (57, 74.843.00
Bardana PP Bags Phuck Afc 5,94,917.00
Machinery Part Sale Out of State Paddy C Form)  41,33,760.00
Machinery Parts Sale Qut OF Siate Rice (C Form) 435003400
Paddy 1121 DF ( Basmati) 1,06,58,152.00 Sale Qut OF State Rice [ F Form) 3,76 3306072
Paddy Husk Sale Qut OF Siate Rice (H Form)  8,04,66,050.00
Paddy Out Of State Sale Paddy Husk 80,367.00
Paddy P.R Afc 16,83,850.00 Sale Paddy P.R {@5% 19,47,062.00
Phuck Sale Rice 1121 Baamali (H Form) 8,96,55,868.00
PR Rice Afc 13,25,600.00 Sale Rice 1121 DP Basmali (%) 37,58,000.00
Rice 1121 DF Basmati 23,61,271.00 Saia Rice 1121 Do Basmatli ( C Form) 8,64,556.00
Rice Bran Sale Rice Bran At 18,62,893.75
Rice Out Of State 1,06,416.00 Sale Rice P.R "H" Form 1,07,88,550.00
Rubber Roil Sale Rice P.R @ 5% 41,75,459.00
Purchase Accounts 16,47,44,708.92 Sale Rice P.R.(C. Form) 37.50,909.00

47 more ... | 18 more .. |

Total 4,78,07,370.70| Total 4,78,07,370.70

Jot SX UIT THT ST 09 A T Hee & Ak J |

AXIS-4

SET Cirl+P =& A §ug €3 II€ Printgcs 3 XBX I |
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7.11 & €9 2y 2y fougen
ZH ST gg3 3gt it fouger st g5 | fragh € €93 Tug &8t
2 o 3gT T oAS B BTt A3t At I | feast fougen § i
HIS & Aofes o <ftmr / fde &3 7 Axer I | fsusr i
Jicnt nig 23 feg It Jev I |
7.11.1 f8AUS HIG  (Display Menu)

Charchit Bansal & Co.

Gateway of Tally ...
Display Menu

Trial Balance
Day Book

Account Books
Statements of Accounts

Inventory Books
StatEments of Inventory
Cash/Funds Flow

List of Accounts
EXception Reports

Cuit

AXIIS-5
T T AN €90 2 o fJude TuT et fsrusnr g A Agdis-5
feg I, =3f=zmm Aaer I fem Hi§ & Hee o Trial Balance, Day Book,

Account Books (Cash Book, Ledger, Sales Register, Purchase Register), Inventory Books
(Stock Item, Stock Transfer, Movement Analysis) »ife faugem et &

AGemt g6 | ferm HiG 3 ag9 A€ & QUIT S &SI I |
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Display Menu @it fauger 9 A7axXot:

Trial Balance: (3®U<a) for €@ @93 3IHUC Trial Balance 2uE &t 3T A<t I

Trial Balance & &4 o BaT &% eftm »i=3 fe &8 AT AxXer I | Trial Balance §
U TEH, IgU T 5%, Ledger Wise St 77 AxeT I | feRd TuE
ST Gateway of Tally 3° ‘D’ feg ‘T’ @& | Trial Balance {9 <o =9 fa2s <t
AT IT5 BET F12 SXHG Anf T |

Configuration
Show Opening Balances ? N
Show transactions 7 No
Show Closing Balances ? Yes
Show Percentages 7 No
Appearance of Mames - Hame Only
Scale Factor for Values . Default
Sorting Method . Defaunlt
Expand all levels in Detailed Format 7 No
AXIS-6

A2 F12 i 29t Al I 3T BUI3 AXTIG-6 nigAT ITesdl XA 55d
g AR €9 o @9 Aexdt § A &3 & AxeT J IfFe:

2 JIX ¥z ©F GUfSar S8 H Tdus &t AT ATTHT Yes o8 9

= Trial Balance f€9 I9 "™ ©hat Transaction ©5& &=t Show Transaction
AIHE Yes 22U &9 | A< fer St%3 ©F StHs Yes 39t At I 3F
fer feg fex J9 13 Nett transaction smg »r@er J fen Siss &
Axg Yes A 3T @er I 3T Debit »i= Credit ©oit 2IBIT 2T
Transaction 5H9 &dT »@&dfnl Axg fer Stos & No A AI3T
TeT J 3T Debit »3 Credit bt BT mMBIT  Transaction &g
M EEarht |
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= Show Percentage fer S8 § Yes Ae 9o &5 Transaction's et

&% & Transaction €7 USTH3 & owg »iedr |

fer 397 &=z »migA™g Appearance of Name, Scale Factor of Values, Sorting Method

nife St H3T A A=Zht At I | fer g7 i3t Ae 96 57

7 325 579 nB8adint™ 8T AxTls-7 nioAg feutst a=dinit |

F4: Grou
Trial Balance Charchit Bansal & Co. P p_
Charchit Bansal & Co. j‘
Particulars 1-Apr-2012 to 9-Mar-2013
Opening Transactions Closing FT: ‘."wclerﬂ
Balance Debit Credit Balance
{apital Account 42,75,063.55 Cr 44.405.00 0.00% 423065855 Cr
Loans (Liability) 9,61,30,110.18 Cr 473396167 76 35.00% 430180342 07 33.33% T,2924,28447 Cr
Current Liabilities 60,72,796.52Cr 15055300772 11.15% 11398310256 &.44% 3049510864 Dr
Fixed Assets 1,50,24,560.77 Or 303,550,000 0.04% 400000000 0.30% 1,1530,110.77 Dr Q
Investments 46,00,000.00 Dr 60,000.00 0.00% 46,60,000.00 Dr
Current Assets $,53,51977.48 I 53549222900 39.64% 51.49,08,279.93 38.12% 10,50,37,826.55Dr o
Misc. Expenses [ASSET) 11.25Cr 11.25Cr C: New Column
A Atter Colm
Sales Accounts 19,72 461.250r 1273470.00 0.09% 26664605672 19.75% 26,3600,125.47 Cr = f
Purchase Accounts 16313168182 1222% 367 17300 0.03% 1647 44,708.92 Dr
Direct Expenses 6,36,271.27 0.00% 6,36,271.27 Dr 1: furto Calumn
Indirect Expenses 4,73,018.00 Cr 2370858250 1.76% 485611.00 0.04% 2,2750,953.59 Or
F9: Inv Rep
G d Total 1,35,08,02565.28 100.00% 1,35,08,02565.28 100.00% ALl
ran ota ' i 1y
T alrulatar NNBRMT Soruar Ctrl 2 hl e
-7

frr 39T &9 ot a3 S99 fAge Iy sag @ As i3 8ot § amie feg
fsew fe@ <o aefenr famr A ©@R 3T Trial Balance © <€ & <t gefonr Av

AT I |

Trial Balance § Ledger Wise ©vE &€t fere Ar JF F5: Led-wise S XS &I | AF
F5 SxH®S ol 'S |
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ferm 3gF s AxSt6-8 oA Ledger Accounts © fars a7 feuret @<ar |

P: Print E: Export [1: E-Mail | O: Upload L: Language H: Help
Trial Balance Charchit Bansal & Co.
Charchit Bansal & Co.
Particulars 1-Apr-2012 to 9-Mar-2013
Opening Transactions Closing
Balance Debit | Credit Balance
82,692.00 Dr [031% 4 448.00 0.00% 41 78200 0.00% 45,358.00 Dr [}028%
Ajay Kumar Goyal { Panchkula) 6,00,000.00 0.04% §,00,000.00Dr [-167%
Akash Trading Co. (Khanouri) 9.01.914.00 0.07% 812753200 0.06% 89,159.00 Dr [0.35%
Amar Math Dharmider Kumankhanouriy 46,991.78 Dr [-0.25% 46 991,78 0.00%
Amar Nath Gupta 1,40000.00 Cr 0.86% 1,40,000.00Cr 0.86%
Anshul Kumar Mohit Kuman(kKhanouri) 21,00, 277.00 0.16% 21,79,850.51 0.16% 7T4,573.51Cr 0.46%
Audil Fees 5,500.00 Cr 0.03% 5,500.00 0.00%
Babu Ram Bhim Sain [Khanouri) 6,64005.00 0.05% 66400593 0.05% 0.93 Cr 0.00%
Babu Ram Budh Ram ( Khanouri) 5,00.000.00 0.04% 50000000 0.04%
Bachana Ram Mange Ram (Khanouri) 30000000 0.02% 30000000 0.02%
Bachan Lal Parveen Kumar [Khanouri) 450,000.00Dr (J276% 7,02575.00 0.05% 10,61,447.00 0.08% 91,128.00 Dr [-0.56%
Balbir Singh {Accountent) D,200.00 0.00%  681,680.00 0.05% 6,76,480.00Cr 4. 14%
Balbir Singh [ Hansdehar) 1,50 000.00 Dr (-}052% 1,50 000.00Dr [-052%
Balraj Ashok Kumar (Khanouri) 14,01 76300 0.10% 1359556200 0.10%  1,801.00 Dr [J001%
Bank Exp. Alc 14, 430.00 0.00% 36.00 0.00% 14,394.00 Dr [-0.05%
295 more ... |
Grand Total 1,63,33,320.00 Cr 100.00% 1,35,08,02,565.28 100.00% 1,35,08,02.565.28 100.00% 1,63,33,329.00 Cr 100.00%
AXIIE-8

DAY BOOK: 3-gx f<g At {i=Eht grdh® Transactions € =899
feust e go | AC 3-gx gt Aet I 37 f&g Current Date (F fH3T
Jicent nig 231 3 foust 8Tt I) Tt Transactions fear@er I | 31T
fH=ZT P Transactions THE BET F2 SaHe a8 =3 B3ter fH3t
FIX Mcd TR HI 3T% B8R fH3T Ert Transactions fexr=ar|
o fEx fH3T 3 gt i3t (& WiSis) 3= 03-03-2013 3° 05-03-2013
Tt Transactions € ST ALT + F2 =96 A f& 3976 Uiz 89

Ugdl |
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Change Period
From o 3-3-2013

To ©o532013

AXIt5-9

Suga3 AXTte-9 feg nigAag fH3T Ta9a &9 | fAR &% 39 g Uighmis

1 3 IX SHg =it

fsA St yras:
ac €39 =8 yrs:

1. ur fedt et Yigmret fe

2. IIt U= I 33T A IE I? TI6E AJ |

ofes s s fagsT Jev I 2

o<t grg (TAaBITT B=w) fa=” gatenr Aer I7
UH'Z ®G9T (Payment Voucher) 79 f&u 2

frtue = BTT (Receipt Voucher) 79 fesrt ?

AJ6® T8TI (Journal Voucher) 79 f&u 2

g8 A i & I°

o e Y Y

3 839 =3 yns:
1. IIt U= iz T fedt 3 a3t o g 32 fTast feg »izg &t

AUAS S|

2. WBIT »iFHIT GEd ST fAXBIST A &XTo © & AC Y Io?

fersg &% &g
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3. f&x &<t 937 (Account) ITEET T S AU IS w3 U3T IEEE

et faaz-faax Stsst g9 Aexdt Igat uet I 2
4.  TEII ofedt I St g T2 ferd Yoiar 96 © & AC U I5?
5. 29 fEg &g got U3t fx2 fanmg 13T 7 Axer I »ix fem feg
faast faast Aasxdat fHset I a9 9997 &9 |
6. EAUST HIE IIT IBUT TuT T »i=z AT »iHdr »iddr fe@ a9

fersg o 999 &I |
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